ENGLISH -

COMPULSORY SSC-II

SECTION - A (Marks 15)

Time allowed: 20 Minutes

Section = A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.

Deleting/overwriting is not allowed.
Do not use lead pencil.
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I fmendb LS L 2Ly, Invigilator Sign.

Fill the relevant bubble against each question according to curriculum:

Candidate Sign.

L] Question A B c D AlBB]c]o
Libraries are an evidence of grandeur of ; .
= civilization. The underlined word means: Joy Glory Demise History O O O O
. ; The leader |Theleader |Theleader |The leader
2. gil::i}:a !mggra;’v:ﬁ :vil"erS:a:ss' an owl. Thelyoughthe  [couldtalkto |knewalotof (wasasquiet | O O O O
| ' could fly. the owl. things. as an owl.
Complete the sentence with appropriate
form of the verb. _ Swam Swimming  |Had swam ?;ﬁnlﬁ;n O O O O
They are afraid of (swim) in the sea. 9
The accident was due to his carelessness. Concrete Collective Common
4. The underlined word is: Abstract noun noun noun noun O O O O
Choose the appropriate past participle. The . Had been
> herbal treatment makes me feel so: Had relaxing relaxing Relaxed Have relaxed O O O O
- The speaker looks angry. He is banging the '
6. table angrily. Manner Place Time Frequency O O O O
The underlined word is an adverb of:
| knew exactly where, | put my wallet,
7 [ still could not find it. Although Or But As O O O O
The patient had stood up before the doctor
: Past Present Past perfect
8. S&g\éﬁénse is it? indefinite Past perfect perfect continuous o O O O
Have you got anything these poor
9. women could take for their children? Which Who Whom What O O O O
The correct relative pronoun is:
10 Will someone be here soon to open_the | Prepositional { Adjective Infinitive Participle O O O O
* door? The underlined part of sentence is: | phrase phrase phrase phrase
1 If we go on holiday this summer, we shall { Conditional | Conditional |Conditional {Zero O O O O
" go to ziarat. Identify the type of conditional. {type | type Il type 1l Conditional
The ghost appeared within_no time. Adjective Adverb Adjective
12. The underlined part of sentence is: Noun phrase phrase phrase clause O O O O
. . .. | Transitive Intransitive - "
13. The cuckoo sings. The underlined word is: |, = verb Linking verb {Infinitive O O O O
This boy is stronger than Haris. Distributive | Demonstrative {Numeral Qualitative
14. The underlined word is: adjective adjective adjective adjective O O O O
15 How poisonous these snakes are! Imperative Exclamatory |Positive Interrogative O O O O
" ldentify the type of sentence. sentence sentence sentence sentence
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ENGLISH COMPULSORY SSC-II

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer all the questions from Sections ‘B’ and ‘C’ on the separately provided answer book.

Write your answers neatly and legibly.

Q.2

Note:

Q.3

SECTION = B (Marks 36)

Read the following passage carefully and answer any FIVE questions including Question No. (i)
appended to it.

Question No. (i) about summary writing is compulsory carrying 06 marks while rest of the questions
carry 03 marks each. (6 + 4x3= 18)

Literature is the story of humans. It is the record of who we are, where we come from and where we are
going. Books make us travel at large. During our journey, we are connected with humanity. We identify ourselves
with the characters we meet and learn whether we love, loathe, fear or flatter. They help us comprehend our
faults and aspirations. They tell us could we become if we are not careful. Reading provides the deepest
connection to the morals that make us human, and part of a larger society.

Books are a source of comfort for us. They are a safe shelter. Throughout human history man has found
peace in the written works. Books are bridges - through their pages we make our contact with society. Those
who read more are better prepared to face the world than those who don't read.

Though reading a book connects us with humanity, it is also the last truly private act in world that has
become too public. As nourishment for the mind, it is slow food in a world given over to fast food. Blogs, text
messages and e-books, bring relevance and instant gratification, much as newspapers and magazines do. But
however important such forms are, they endure only as long as the stuff they are printed on. The comforts of
books defy time, and break borders.

Books offer other types of pleasures as well. The joy of their touch, sound and fragrance is immeasurable.
The joy of their touch, sound and fragrance is immeasurable. The pleasure of their understanding is an addition to
it. The sharing of a book with friends is still another form of joy. Libraries are the evidence of grandeur of a
civilisation.

Questions:
(i) Summarize the given passage. Also suggest a suitable title to it. (Compulsory)
(ii) What are the advantages of reading books?

iii) Explain the connection of history and literature.

(iv) Elaborate the statement; “Reading is also the last truly private act in a world that has become too public”.
(v) What effect does reading has on the reader?

(vi) How does reading bring positive change in reader’s personality?

(vii) Write down the synonyms of any three of the underlined words.

A. Paraphrase any ONE of the following stanzas: (02)
. And when the sun comes out,
After this, rain shall stop,
A wonderous light will fill,
Each dark, round drop;
| hope the sun shines bright;
It will be a lovely sight.
OR
L. I wandered lonely as a cloud
That floats on high o’er val's and hills,
When all at once | saw a crowd,
A host of golden daffodils
Beside the lake, beneath the trees
Fluttering and dancing in the breeze.

B. Read the following poem/stanza carefully and answer the gquestions appended to it:
l. But of all that is not its core,
Its centre is in truth eternal stiliness,
Bright blue skies and all you hear
Are gentle whispers far away and unimportant.

Questions:
(i) What is the quality of the wind in this stanza? . (02)
(i) What role do the “gentle whispers” of the wind play? (02)

OR
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Il For oft, when on my couch | lie
In vacant or in pensive mood,
They flash upon that inward eye.
Which is the bliss of solitude;
And then my heart with pleasure fills,
And dance with the daffodils.

Questions:
(i) How do daffodils help the poet in getting rid of pensive mood? (02)
(ii) Identify and explain any two poetic devices used in the stanza. (02)
Q.4 A Fill in the blanks with appropriate form of verbs given in the brackets. (Any four) (04)
(i) What (be) you doing, when he knocked at your door?
(ii) you help me with the house work, please? (Polite request)
(iii) We felt the tree (shake) in the storm.
(iv) Our country become a super power by 2025. (Possibility)
(v) it (rain) in winter every year. -
(vi) She (sleep) since morning.
(vii) She (gave) away all the money to the poor yesterday.

B. Change the following into INDIRECT SPEECH. (Any four) (04)
The new teacher entered the class room and said, “Can you tell me what should | do now”. “No sir,” one
of the students said. The teacher smiled and said. “Try to guess”. “You should introduce yourself to us,”
another student said. “Thank you, said the teacher. “You are really brilliant”.

C. Do as directed (any FOUR) of the following: (04)
(i) Amijad is successful writer. (Change into Negative Sentence)

(i) It is raining cats and dogs. (Change into Interrogative Sentence)
(iii) Man is a wonderful piece of work. (Change into Exclamatory Sentence)
(iv) We are going to put off our trip to Spain until September. (Change into Negative Sentence)

(v) It is a beautiful morning. (Change into Exclamatory Sentence)
(vi) Is this the kind of dress to wear to work? (Change into Assertive Sentence)
(vii) Will you shut the door? (Change into Imperative Sentence)

Q.7.

SECTION = C (Marks 24)

Write a letter to the Superintendent of your nearest Police Station about the increasing numbef of mobile

snatching incidents, drawing attention of the concerned authorities to take remedial measures. (08) -

OR
Write an application to the Incharge traffic police of your city requesting him to take notice of vehicles parked on
service lanes and pavements in market.

Describe the art of drawing, using appropriate/correct transitional devices (at least six) for connecting your

ideas logically in paragraph (06)
Write an essay on any ONE of the following topics: (200-250 words) (10)
Floods

OR
Drug Addiction

OR

An ldeal Student
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Fill the releilant bubble against each question according to curriculum: Candidate Sign. _
| Question " A | B ¢ ¢ i o ‘a]Blc]|pb]
into how many groups natural resources are! ; : i
divided? 2 i3 i4 i5 O O O O
The PIA training centre is located in: ‘Lahore ‘Peshawar  Quetta 'Karachi O O O O
The kharif crops are harvested in the tmonths January- . ::August- éOctober—
of: { | February iMarch-ApnI iSeptember  {November | O O o O
] ] ' t 1 [l
Which is the main source of biogas? f iSunIight iAtoms éWater gAnimaI waste O O O O
Pakistan Steel Mill Karachi was established: ., . i . !United states '
with the help of: EChma ERussna :of America Elran : O O O O
In 1952 natural gas was discovered at: EZhob ESui iTut iKhairpur O O O O
P . iJheIum §Sargodha éMianwaIi s .
Warachha salt mine is located in: district  district gistrict EA’ttock district i O O O O
How many textile units were operating ini14 517 519 ?21 ® O O O
Pakistan in 1948? | ; 5 ; ;
The Indus plain is covered by: gSand sheet iSoft Alluvium iSheet of éLoess O O O O
P : y: . y : iPebbles ' '
Lahore-lslamébad motorway projected has! , . E : . E
.10' been built by Daewoo Corporation of? EChma i.Korea :,Japan iMalayS|a E o O O O
After partition, in 1950 AD the first sugar mill; . :
B was installed at in Pakistan. EMardan ERlsalpur thang EBannu : O O O O
@2 How many vessels did PNSC own in 19977 {13 114 115 116 O O O O
- Which breed of oxen is found in theg . . -

13, untainous region? . EDhanl EBhagnan EThar Pak iN|l| Poar k O O O O
.1 4 According to Indus water treaty which riversgij::dgm‘ ‘ERavi. Sutlej, ilndus, Gomal.éJhelum. Ravi, O O O O
, " were given to Pakistan? ' ' iBeas 'Jhelum ‘Chenab '
| . iChenab | 1 : :

: . __ilimestone | . : : . N ;
The two basic raw materials for the cement;and Natural ‘Limestone  :Gypgsum and :Chromite and ; O O O O
industry in Pakistan are: E:Gas rand Gypsum :Natural Gas :Gypsum ;
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GEOGRAPHY OF PAKISTAN SSC-II

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

* SECTION — B (Marks 36)

i
Q.2 Attempt ahy TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12x3=236)
(i) Write down any three principle means of irrigation used in Pakistan.
(i) . State any three advantages of forests.
(iii). Into how many categories the imports of Pakistan have been divided? Also name them.

(iv) Discuss briefly about the Rabi crops of Pakistan.

(v) How is water logging and salinity dangerous for crops to grow?
(vi) Name any three cities of Pakistan where diesel power stations have been established.
(vii) Write any three points to discuss the importance of agriculture in Pakistan.

(viii:) Briefly discuss the importance of seaports of Pakistan.

(ix); List down any six chief exports of Pakistan.

(x) After the partition, why was Karachi made centre of textile industry?

(xi)f What type of climatic conditions are required for cultivation of sugarcane?

(xii) * Enlist the uses of Gypsum.

(xiii)  What is solar energy? How is it useful?

(xiv)  Name any three woollen 'textile industries Iocated in Pakistan.

(xv) Mention any three advantages of air transportation in Pakistan.

(xvi)  Mention any six cities of Pakistan that have cattle farms.

(xvii) How does the transportation system impact the mobility of labour and stability in prices?

(xvii) How many dams, link canals, and barrages were built under indus water treaty settlement plan?

SECTION — C (Marks 24)

Note: Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

Q.3 Ex;;lain in detail the favourable conditions for the growth of rice. Also write about the rice growing areas of
Paf(istan.

Q.4 Why is human resource development crucial for Pakistan’s economic expansion? Discuss its primary obstacle as
weil as possible solution to this problem.

Q.5 Anélyse the geographical factors which influence the location of Industry.

Q.6 ldehtify the principle railway routes of Pakistan. Also, discuss the importance of railways as mode of

trarjsportation over other means of transportation.

——— 2SA-I1 2304 —
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| | Question Jir A B c D AlB]c]| o]
The National Assembly of Pakistan can
make changes in the constitution with a two-
third majority. This process of making|Enforcement |Abrogation of |Promulgation {Amendment
1. changes in the constitution is called: of an Act constitution |of constitutionjin constitution;] O O O O
e FIE e S Ta L1017 St | 366 LT KL T EIRLT
saS oLl '
When was Pakistan Bait-ul-mal established
2, in Government of Nawaz Sharif? 1990 1991 1992 1993
: ?%Wfﬁ',fdﬂlq«dt‘«@u‘fyﬁp)ﬁby)}li O O O O
The tenure of Mohtarma Benazir Bhutto's
3. firstregime was: 1985-1987  |1988-1990 [1990-1993 (19971999 | O O O O
: - e k¥ x5
Which country’'s head of state visited
Pakistan first? Iran Congo Afghanistan |America O O O O
4,
?W;J)U(,c;q(ul;@'gnl/,/éuﬁ(_/ ol ;f( 5= ,._f/l
Islamic
Pakistan recognized Bangladesh in 1974 in Summit
in Lahore. oiC Conference |SAARC RCD
5.
Utk Livdn b 19745 s i el ¢dTon Gla g S i O O O O
4
‘Chach Naama’ is first living master piece of
literature. Punjabi Sindhi Balochi Pushto
6. A O O O O
e KiBs i Slg¥ il ‘g |J6 > g4 »
According to the data of 2021, males
constitute of the total population
7. of Pakistan. 51% 49% 52% 48% O O O O
Y, 4 {d)gf(,(ul}(k:/albfé:/({’»ul[.202l
The backbone of Pakistan’s economy is: Technology |[Minerals Industry Agriculture
8.
..¢"_,A>l‘/,¢_._,/!{ uf:‘f’c.""Jul;@ doeg =L = ey O O O O
Underground water level rises and comes
very close to the surface of the earth, this Water- Water-
condition is: Water-logging | storage Salinity resource
e el en Lot Inil Sdtiis| o2y A Sl © ©0 O O
el
The language played vital role in promoting
the Pakistan movement was: Arabic Sanskrit Urdu Persian
10.
S‘M)l/b/ﬁl(ﬁdl}iu{fﬁ.d@)‘/ (}/ ;4;' 231 gA O O O O
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PAKISTAN STUDIES SSC-lI

Time allowed: 2:15 Hours Total Marks Sections B and C: 40

NOTE: Answer any Eight parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION = B (Marks 24)

Q.2 Answer briefly any eight of the following questions. (8 x 3=24)

U]

(ii)
(i)
(iv)
v)
(vi)

(vii)
(viii)
(ix)
(x)
(xi)

Enlist any three incentives given tb labours in Reforms by Zulfigar Ali Bhutto.
What is the importance of 13" amendment in the constitution of 19737

Write the brief history of usurper entry of India in Kashmir.

Enlist any three link canals constructed under Indus Water Treaty.

Write the different genres of literature in Balochi language. (Any three)

What are the priorities of national education policy to cope with educational challenges in Pakistan?
(Any three) _

Briefly discuss the main agenda of Geneva Accord.

When and why SAARC was formulated?

How Pakistan h;s central position for CentraI-Asian Countries geographically?
What is heavy industry? Give its examples.

Describe the major social problems in Pakistani society. Make list.

SECTION = C (Marks 16)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x 8 =16)

Q.3 Discuss Pakistan's emergence as Nuclear Power.

Q.4 Write a comprehensive note on objectives of Pakistan's foreign policy.

Q.5 Discuss the causes of poverty. Propose the steps for poverty alleviation.
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Time allowed: 2:15 Hours Total Marks Sections B and C: 40
NOTE: Answer any eight parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.
SECTION ~ B (Marks 24)

Q.2 Attempt any EIGHT parts from the following briefly. (8 x 3 =24)

(i) What is the second great deed of religion?

(ii) What is the significance of Greece in various sciences?

Note:
Q.3

Q.4
Q.5

iii) What should be kept in consideration while engaging a porter to carry luggage?

(iv) Why is accountability important? Briefly explain.

(v) What are the crisis of personal life?

(vi) What were the basic teachings of Mahavira?

(vii) What is the role of NGOs in promotion of helping others?

(vii)  Describe accountability. ,

(ix) What precautiohs should be taken while using mobile phone during travelling in buses?
(x) How should one interact with security officials at the airport?

{xi) From which teacher did Aristotle learn?

SECTION — C (Marks 16)
Attempt any TWO questions. All questions carry equal marks. (2x8=16)
Write notes on the following:
a. Airport etiquettes b. Market etiquettes
What does religion do to help an individual in crisis? Explain in detail.
Write a detailed note on Aristotle’s system of Ethics.
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with plane mirror. Angle of reflection of this
light ray is: - o
4. 30 0.866° 90° 60 O O O O
Ul u&J"/—IK60° ivézfg.’i"._';u.jf’c__/&;_)l.p
_ S‘(ﬂ&@@)ﬁl’f’-l Ko s
If a charge of 3C experiences a force of 15N
in the electric field of 5C charge, electric field
intensity at that point is: - - - -
5. SNC 3NC 45NC INC O O O O
LU 15N 4ok £ 3C itk SC Si)
e G .
Page 1 0f 2 i




| Question Jir A B c D AlB|c]| |
Tungsten Fixed
Which of the following components obeys filament resistance
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PHYSICS SSCHIi

Total Marks Sections B and C: 53

NOTE:

Answer any eleven parts from Section ‘B’ and attempt any two questions from Section ‘C’ on the .
separately provided answer book. Write your answers neatly and legibly.

Q.‘2

Note:
Q.3

Q.4

SECTION —~ B (Marks 33)

Answer any ELEVEN parts from the following. All parts carry equal marks. (11 x3 =33)

(B

(ii)

(i)

(iv)
v)

(vi)

(vii)

(viii)

(ix)
(x)

(xi)
(xii)

(xii)

(xiv)
(xv)

~[=
S

In a simple Harmonic Motion why does the body continue to move even after reaching at the mean
point?

If pitch of sound is increased then what will be it's effect on following? Also give a reason for your
answer in each case.

(a) Frequency of sound - (b) Wavelength of sound (c) Loudness of sound
Calculate minimum distance of person from obstacle so that he/she can hear clear echo of his/her
sound. (Speed of sound = 332m/s) (time for which sensation of sound persist in ear = 0.1s)

State conditions of total internal reflection. Also draw diagram of critical angle.

What is short sightedness? Show its cause (with the help of diagram). How can this defect be
removed?

I there are only 150uF capacitors available in lab and it is required to get a capacitance of 50uF then

how will 150uF capacitors be connected to get 50uF equivalent capacitance?

How is lightning produced? How can high rise buildings be secured from lightning strikes?

The combined resistance of two identical resistors in series is 10Q2. Calculate their combined resistance
in parallel arrangement.

Briefly describe any three hazards of electricity and how to prevent damage from them.

Two parallel straight conductors carrying current in the same direction, attract each other. Why? What
will happen if current in both wires is in opposite direction to each other?

What is meant by electromagnetic induction? Name a device which works on this principle.

Draw truth table for the following circuit. A

Why is image distorted when a magnet is brought close to old

television screens with Cathods Ray tube inside? Q2(xii)

What are the basic components of information and communication technology? Explain briefly.

Why is energy released when two lighter nuclei fuse to form a heavier Nucleus? What is this process
called? Give one example of it's occurrence in nature.

SECTION — C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2 x10 = 20)

Wirite down the two conditions for a body executing simple harmonic motion. Prove that a spring mass
system satisfies both these conditions. Also state formula for its time period.

An object is 15¢m high, it is placed at a distance of 20cm from a concave lens of focal length 15cm.
Calculate position and size of image. Also state nature of the image?

What is a transformer? Describe its construction and working in detail. What are the two types of
transformers? Explain with the help of diagrams.

How can an output of "1" (or high) be obtained from following:

(i) NOR gate (i) AND gate

State Coulomb’s law of electrostatics along with mathematical formula. How can electroscope be
used to detect presence of charge on a body? Draw related diagrams.

In 420days, the activity of a sample of polonium (Po) is reduced to one eighth of its initial value. What
is the half life of polonium?
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. Pressure, pressure, Heat,
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. effects, air and absence |effects and |effects, air
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BB 1 formed underground due to: of heat effects air of pressure O O O O
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‘ I
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. -L[//,frl?rﬂ&n}@ﬂ
|
, Identify Lewis base from the following: .
- AlCI BF,
2 PP HC! cl s : O O O O
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|| Question Jir A B c . D AlB|c]|oD|
Urea contains percentage of
nitrogen.
6. . 56 46 96 86
-é.dyu:?/,wf LAY O O O O
Water is used as an excellent cooleriLow heatof |100°Cboiling iHigh heat
(coolant) in industries because of its: vaporization |point capacity High density
7. 4 ) - ’ 3 O O O O
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following molecule.
. Heterocyclic |Carbocyclic |Acyclic Homocyclic
10.
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N
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e i LI d
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CHEMISTRY SSC-II

Time allowed: 2:40 Hours | Total Marks Sections B and C: 53

P
NOTE: Answer any eleven parts from Section ‘B’ and attempt any two questions from Section ‘C’ on the
separately provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 33)

Q.2 Answer any ELEVEN parts from the following. All parts carry equal marks. : {11 x3 =33)
(i) Describe the uses of urea.
(ii) Identify Bronsted-Lowry acids and bases in following reactions
(a) CH,COOH,, + H,0,,, = CH,COO,, + H,0[,, '
(b) NH,  +HNO, === NHNO,
(c) HCl,, + HCO%;) = H,CO0,  + Clizy
iii) Differentiate between saturated and unsaturated hydrocarbons. Give one example of each.
(iv) Classify temporary and permanent hard water.
(v) Discuss any three uses of lipids.
(vi) Analyse the basic reaction of calcination in Solvay process for preparation of Sodium Carbonate
(Na,CO,).

(vii) Distinguish mono and oligosaccharide on the basis of.

(a) Solubility in water (b) Physical state
(viii) - Enlist the temperature and altitude of stratosphere and troposphere.
(ix) State necessary conditions for chemical equilibrium.

(x) Complete the following reactions. ,
H,C - CH,— e H,C - CH ~ CH,—2% H,C — CH, —Xotdaio)
@) | (b) | ©) |
OH cl cl

(xi) Determine the concentration of H™ in drain cleaner if the concentration of OH'"ions in itis 1.0x10°M .
Is the solution acidic, basic or neutral?

(xii) How is ozone level maintained constant in the stratosphere? Write chemical equations.

(xiii) Predict the harmful effects of following air pollutants.

(a) Carbon monoxide (b) Nitrogen oxide (c) Sulphur dioxide
(xiv)  Enlist the causes and effects of following water borne diseases:
(a) Typhoid (b) Jaundice (© Hepatitis
(xv) Draw electron cross and dot structures of:
(a) Methane (b) Ethane
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)
Q.3 a Describe any three physical properties of water. Also discuss the composition of water briefly.
b. State Arrhenius concept of acids and bases with suitable examples.
Q.4 a Describe some general characteristics of organic compounds.
b. Differentiate between water-soluble and fat-soluble vitamins.
Q5 a Enlist the boiling points and important uses of the following petroleum fractions:
(i) Petrol or Gasoline (ii) Kerosene Oil (iii) Diesel
b. Derive an expression for the equilibrium constant for the following reversible reaction.
2NH, <3H, +N,
e 2SA-Il 2308 ——
SUPPLEMENTARY TABLE:
AomicNo, | 1 | 2 |3 4 [ 5] 6 [ 7 8] 9 10|11 12 |1 |14 15|16 17 |18 19 | 20 |
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.I | Question Jir A B c D AlBsJ]c] o]
. An equation, which remains unchanged
y 1 . . . .
when x is replaced by — is called a/an: Exponential |Reciprocal Radical Linear
,: P Y5 Equation Equation Equation Equation O O O O
. ?‘LJM.L'(KJJ:EC—L/’IGI)J' jd/x AP el ;«Dl/(jb’c/} gl)b‘J}c’ wlibeSrie ahlaBok
X
If a,Bare the roots of the equation
] 4 -5y+6=0, then the value of
1 1 .
‘ —Spt o I8 5 3 5 6
.2_ a’B apf 7 3 5 5 o O O O
- 3 ousn J’u L4y*—5p+46=0 =bi- a,ﬂfl
e 1 1
felfed
- X ~“(azﬂ+a/)>2
' 3 In which situation x varies directly as y r= 3 J— . .3
. . (y = xy x=—y
. ?inu-f.:/flﬂ yaolx u:.:«/r“g/ Y 11 O O O O
The shape of partial fractions of
17x+5
—e Q€
- (x—l)(xz—l) 4,8,  C | A Bx+C | 4,8 cCc |4x+B C
- TS| -1y Tl+ EDRI S AT FIVILE R S a At O O O O
] S P tnf —LTX+S -1 x x
0¥ JJ dﬁﬁJm/ .
B v
If the following ordered pairs are equal
- (3-2a,b-1)=(a-7,2b+5)then values of
a and b are: 3 10 -10 -3
5. . —, 6 —,—0 —, 6 —,-6
" xS ol adusaseinyodin )10 3 3 10 o O O O
) (3-2a,b-1)=(a-7,2b+5)
In the set of data 41,43,47,51,57,52,59
. median is:
.5' Sl ¥ 41,43,47,51,57,52,59 ap | 3] 52 41 51.5 o O O O
. Geometric Hormonic
7 The reciprocal of arithmetic mean is called: {Mean Mean Average Median
m S b VU S K1l | bt 4Bt bl ET A Lo Sl O O O O
' Pagelof2
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The arc length "/"of a circle of radius
r =6 ¢cm and central angle 8=60°is:

U9 I 0 =60° fjlidf//:l r=6cm Jlu(g/'bo’(ﬁ

?C"—g dud

3.1415

4.7122

6.283

9.4245

In
AMBC if mEE‘=4cm,mR‘=120m,mLC=12

then the length of projection x of AC on 4B
is:

12,:”7
T

-
N
=)

1

L.

@
IS
)
3
(9]
*®
(o]

»lz‘=12cmj36=4cm U~ AABC &l
¢y 4B x §U§S LAC 7x msC =120°

00

33

43

63

123

10.

A line segment having both end points on
circle and not passing through the Centre is:

;c_f/L;/’lmi,wvxg‘£¢./’b¢./ui»£.£>‘;§¢f(fl
?‘Lt'lk{“lfb,:gnié_/}

Diameter
i

Tangent
v

Radius
Jh

Chord

73

11.

In the figure, the length of OQ is equal to.

Qa4 P

e 0§00 P TS

12.

In the given figurej - ®
m£lis 50° What is ,«
the measure of £2 | p 4

Jma1=50° St

>/ ¢
sl § £2 i ,

25°

50°

75°

100°

13.

The centre of incircle is called:
—U.?g___ffflc/’bn‘;

Circum-
centre

f//lf

E-centre
Trse

In-centre
.'/(/u“;

Centroid
nF

14,

In the given figure
"0"is the centre of X
the circle, then the
angle "x"is:

0" Syt b
.‘.’(‘—""‘E Juxu 1}[; ?.‘.-c"

?d’y:

309

15°

30°

45°

60°

15,

=Y =K then u is equal to:
”

u=vK?

e Veiduint=2=K /i
v w

u=vK

u=wk?

u=wk

O
O
O
O
AR N
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MATHEMATICS SSC-II

Science Group

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separately

provided answer book. Write your answers neatly and legibly.

Q.2

Note:

Q.3

Q4.

Qs.

Q6.
Q7.

SECTION — B (Marks 36)
Attempt any NINE parts. All parts carry equal marks. (9x4=36)

(i) If x*-5x*+4=0
(a) From an equation y*>-5y+4=0
(b) Solve the equation y* -5y +4 =0by Factorization.

(c) Write down the solution set.

(ii) Using quadratic formula, solve the equation 24l x=1]
x+1 x+4

(iii}) Find the cube roots of unity.

(iv) The supporting load "C" of a pillar varies as the fourth power of its diameter "¢" and inversely as the
square of its length "/". A pillar of diameter 6inches and of height 30 feet will support a load of 63tons.
How high a 4inch diameter pillar must be to support a load of 30 tons? SetA SetB

; ; . x1+2
(v) Resolve into partial fractions — " ’
X
(vi) Does the adjoining figure " f"represents a function? If yes state its type, and #
also write its domain and range.
(vii) The following data shows weights of toffee boxes in gms. Determine the mean
Q2(vi)

weight of a box.
Classesigroup | 0-9 | 10-19 | 20-29 | 30:39 | 40-49 | 50-59 | 60-69

| Frequency 2 | 10 5 9 6 7 2 B

(vii)  The area of a sector 0O4B with a central angle 4 in the circle of radius 2mis 11sq.
. . . 8
meter. Find the angle @ in radians. o]
' Cos@ Cos@ 2m A

. he i . = 3S0cd
(ix) Prove the identity 1—sing TSm0 Sec Q2 (viii)
(x) In the given figure calculate the length of chord AC , which stands at a distance of 5cm from the centre of a

circle, whose diameter is 18cm .

(xi)  Inthe given figure of triangle AB=42cm, BC =6cmand m/ABC =135°
(a) Find the length BD=y=" (b) Find the length AC=x=?

(xii) Prove that if a line is drawn perpendicular to radial segment of circle as its outer
end point, it is tangent to the circle at that point. (Write only proof and diagram).

135
(xiii)  If U={x|xeNAx<20},4={13,5,..19},8={2,4,6,..20}, then prove that (AUB) =4/ "B A  4f2cm B 7 D
Q2(xi)
(xiv)  Circumscribe a circle about an equilateral triangle A4BC with each side of
length 4cm . (No need to the write steps of construction)
SECTION - C (Marks 24)
Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

Solve the following simultaneous equations x*+2y*-3=0, x*+4xy—5y*=0

X2

Resolve into partial fractions ——
(x=1)(x*+3)

From an observation point, the angle of depression of two boats in line with this point, are found to be 30°
and 45°. Find the distance between the two boats if the point of observation is 4000 feet high and the boats
are on the opposite side of observation point.

Prove that if two chords of a circle are congruent then they will be equidistant from the centre.

Prove that equal chords of circle (or of congruent circles) subtend equal angles at the centre (at the

corresponding centres).
——— 25A-11 2309 —
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(9x4 = 36) Al e GE S n2(09) 3 e hihs psnr Ay
-Q/ded/@fy2—5y+4=0abl/ -— Sty -syra=0enls Snxtosiea=0 (i)
_u,/‘f}(2x++ll A+‘l‘ =0 ublxgﬁd_/db‘“lﬂfjb(fnn (ii)

-L[/(}l”(Cube roots ofunity)(fu.,»{[,dﬂ (iii)

30 S0 6 i) 3 S Ut p Lo S E i P pted E 5 8var BEKCr 1L i (iv)
SetA SetB ?fn»@ﬁ’fu?(/ﬁél44&';/@;31,“,3,5(&30 }"‘al:ﬁ/of’b/,.f:) |
2 X +2 v

..4 LI oSSt s )
-ind{@w'dfﬁtfw?.;'_J’@K(’J'/}'c‘-d‘u?dﬁ?ﬁ;r/ﬁw/‘)‘@ Ty AN (vi)
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o) o

2m A -u’/.:/,(:" Co§;0 . Cos'¢9 —2Secd M&VJQ!J" (ix)
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‘ e8I s o S, A6 L Sl 18 567 LIS (x)
~_D _“7 e - — — X ;
U/ (02075 mLABC =135° 131 AB = 42 cm, BC = 6em Ur i (xi)

AC=x="? —— —B—D—=y=? -
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©

135

A 4f2em BV D
| (LS B 5 2) e b g\ st oL it (b 55 s sk i (Xi)
(AUB) =4 B S S et B={2,4,6,.20) sl A={1,3,5,..19},U={x|xe Nax<20} Ji ~ (Xii])
(el en Sl il s np 4l 2 L1 B Lot B ABC Sttt Soln (xiv)

24~ f)f'r._»?

2 (%) roi Slges

..___-_5‘._-

(3x8=24) s Ludrp.EL Urd 05
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Answer Sheet No.
L
n I fmende LS L e L)y, Invigilator Sign.
. Fill the relevant bubble against each question according to curriculum: Candidate Sign.
| | Question Jir A B c D AlBs]c] o]
| Bronchioles— |Pharynx—  |Bronchi— Larynx—
trachea— larynx— trachea— pharynx—
. Which out of these is .correct order of{larynx— trachea— larynx— trachea—
. structures involved in the flow of oxygen injpharynx —  {bronchi — pharynx —  |bronchi —
1. human body? ) ‘ bronchi bronchioles |trachea bronchioles O O O O
?q_:,//;%i'icffg(u}'"l//(/:ui'ﬂ{.éf.vﬁ:?(ﬂ()'&w <—-l._f/‘<—7::(u. <—fﬁ<——a.f(/.’ 4—&{/'<—(jl§"/. *J(ﬁ‘—tfrﬁ
n N ﬁ*—Jf A .y S ﬁ<—af€ A $arif’
é(}u,(— ﬂ;,;f L l,.(/'d— )‘}}{ =
. Which of these is NOT present in the filtrate '
» entering in the Bowman's capsule of a o
. ). nephron? ) Urea Water B.Iood cells C/al;cmm ions
St e Lnd r Lo od fin & ELys S o O O O
|
| Identify the part of hind brain which controls
- equilibrium and muscle coordination during 5 Medulla el
riding a bicycle. ons oblongata Cerebellum {Cerebrum
3. , p
S F gt ite Lo 2y S 5488 0N Loy 34 a4 H-’-; e O O O O
| st S :
. Which of the given hormones is responsible
for beard, moustaches, thickening of voice
. 4 and sperm production in man? Testosterone {Estrogen Progesterone {Oxytocin O O O O
' m._-/,d/w:;uTq,;:frJ;m_/:u»/ufc.utimyZ;: w/f‘f*-.: Fa u:ﬁ:{_ ‘/;‘fff
?91’)»5(2“__/"/{
i
) All others are example of freely moveable
. 5 joints EXCEPT: HIP joint Shoulder joint |Elbow joint  |Rib joint O O O O
. ' AR ST e 32K LS ke 126§ 126k
n
. Which of the given part is NOT included in
axial skeleton? Skull Hyoid bone {Rib cage Hips
6. P
. e et St o U (g Shd ULk &S © O O O
m:
-:
B Page 1 of 2 |




| | Question i A B c D AlB|]c] o]
Greater
Fertilization of|number of There is risk
egg occurs  |gametes are |Embryo gains |of loss of
Identify the feature NOT related tojoutside body |released by |extra gametes due
7. EXTERNAL fertilization. _ |of female animals protection to predators O O O O
ﬂqﬁ&"":.u”-iu_«'/‘,f;ﬁ;}&f ul.cf:'-'fly/'(fah Uoluliide GLJLP»:Q}:Q‘/J c_,.?n;}ﬁ)l/,:
Bl L e Semotes (o bl ol
la.tm)"g
A particular characteristic is controlled by
dominant allele, ‘A’ and recessive allele, ‘a’.
Which cross would give a genotypic ratio -
1:2:1 among offsprings?
8. - A AA x aa Aa x AA Aax Aa Aax aa
‘Ld/djf‘f ‘a"ﬂlﬂdu’!‘A'Jeldﬁflb(M}‘?gf/ug O O O O
¥ 2l it Sugtn /S
Variations Variations are Variations
show clear  |controlled by {Variations show
All other are characteristics of discontinuous |cut single gene  [cannot be intermediate
9 variations EXCEPT: phenqtypes pair measured phenotypes
) ZUrlwa_hr’;Jaljyﬁ;?/ WA I ‘ﬁz.@(ﬂf&l} Jujdjg&:«l/; z._/)é_.l(m:—lj O O O O
b6 et Sy & LIS
4
Cuscuta grows on other plants using their
nutrients for its growth and weakens the host
10 plant. Quscuta is an example of: Parasitism Mutualism Predation Commensalism O O ‘ O O
Jb”lu:f /',{'Lulé.£V;ﬁz;lg.b&gj;:44()u{;/»0ﬁ A r)g;;‘ u’»,‘% rﬂi ,—'»f
?@,J@JJ E:ar.c;..b'//;}/f/_)gym’l‘g.t'/
Which one of the given enzymes is used to
seal/Paste the desired gene with DNA of :
vector? Endonuclease {ligase Helicase Polymerase
11, .. .
S tTeKL 52 d\ £ DNASod ot S ESd | K ia & 5 2284 O O O O
Which one is the source of drug tincture
lodine? Bacteria Fungi Minerals Plants
12, - ;
?gdm}’ b;ul.fg_ﬁfl’}f: S | ,‘é ij el ey O O O O

—25A-11 2310-2101~—
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Time allowed: 2:45 Hours
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BIOLOGY

sscC-li

8

Total Marks Sections B and C: 53

NOTE:

Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Write your answers neatly and legibly.

Q. 2

Note:
Q.3

SECTION - B (Marks 33)

Attempt any ELEVEN parts. All parts carry equal marks.

(i
(ii)
(iif)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)
(x)
(xi)

(xif)
(xiii)

(xiv)

(xv)

4

Write down any three roles performed by nasal cavity.

How do movements of ribs and diaphragm lead to inhalation?

Describe how lungs keep the carbon dioxide concentration down to a certain level.

What is homeostasis? Write down any two roles of homeostasis.

(11 x 3 = 33)

Considering white and grey matter, differentiate between cross-sectional views of brain and spinal cord.

Associate the role of vitamin ‘A’ with vision. Write effects of its deficiency on retina.

Enlist names and locations of three types of cartilage in human body.

Relate any three adaptations of insect pollinated flowers with the transfer of pollens from anther to

stigma.

Rationalize any three needs for population planning.

Relate the role of meiosis with variations in sexually reproducing organisms.

Complete the table writing correct phenotypes of blood groups.

Genotype

AlA

8|8

{AIB

1A

IBj

| Phenotype

What is meant by food chain? Draw a four linked food chain.

Write down any three damaging effects of deforestation.

One of the important steps of genetic engineering is formation of recombinant DNA. How is recombinant

DNA formed? Draw a labelled sketch.

Write down principle usages of analgesics, sedatives and vaccines. (One each)

SECTION - C (Marks 20)

Attempt any TWO questions. All questions carry equal marks.

Describe the structure of Nephron. Also draw its labelled sketch.

Explain the functions of Cerebellum, Thalamus, Hypothalamus and medulia oblongata?

(2 x 10= 20)

Explain gametophyte generations in the life cycle of flowering plants. (No diagram is required)

Describe the central dogma stating the role of gene in protein synthesis.

Write down causes, effects and control of water pollution.

Explain mode of action and uses of tetracyclines and cephalosporins.

— 25A-11 2310 —
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IS et e (V)

SIS TPRFE NS LS sttt nZE, ;f e Sy (v)

Sl net i bl e U1 s SEAS a2 e S (vi)

AR LEIKLLE SR (vil)

P b E SIS Py pF e ot i JgsLle=1p (vi)

e 56, S By (ix)

?4‘-0“7 Ve el J6U7ndUtumsb s S P15 06" (x)
ST T LB b e S S S
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Lt K Bat e e B (i)
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Answer Sheet No.
a
-u_‘//?:(u'l);/n&lh/LH:g/‘Zd,)é;‘.lré:Jl//; Invigilator Sign
| Fill the relevant bubble against each question according to curriculum: Candidate Sign.
B | Question i A B c D AlB ] c| o]
At which stage of problem solving “Planning Investigation |Creative
. the Solution of the Problem” is formulated? {Initial stage stage _ stage Final stage
Lo Bt Ga S LE e LLS S | b plii oy o b 657 o O O O
fe
- s is a s%ﬂmare that Ict)ads a program Link Load c | Deb
tnto memory and then executes it. inker oader ompiler ebugger
__ER Iy A # AL A o O O O
. -g.t'/,cf/:dj/,u’i/.f
Which ogeratgrs are used for building Relational Logical Arith A
3. compound conditions? Seatlona ogica rithmetic ssignment
. S'wlﬂdb:’l_iLLt:u?ﬁ{ﬁ?fgf}ﬁ/jcu[ ﬂ/ L?JV (fLJ Lf!-:‘.‘. O O O O
Which of the following refers to ‘uploading of
. _web pages to web server’ so that others can| Configuring Installing web
4 access it? web pages |Web Surfing |sites Web-hosting O O O O
. dV/Ju-./‘/,"/J/%l{ﬁgf;)’f%)l/:é—g/&—ufbial) ﬁJal}‘%J u@/.:/_J l:/dl')l.‘;’lm,{.) ..G‘fm,{.}
i L
. statement is used to exit from the
body of SWITCH statement.
.5. o L& 2o e (switcw)§y|DEFAULT - |BREAK EXIT conTnE | O O O O
-4.Jndb‘“l
B \c/:th(:jh_statleglent can be used in place of
6. Conditional Operator- . |IF-ELSE Switch-case |IF-ELSE-IF  |IF
s Se e sl B TS| 0O 0 0 0
The loop within another loop is called:
7. FOR Nested WHILE DO-WHILE
u st vl depn este o O O O
Which olfVI ltjhse;r followin')g functions all C-
1 8. program contain’ ) getch() mian( ) scanf( ) printf( )
. ?‘4bmf.r[;uu:um/34c—(ﬁfﬁ L e b ltn O O O O
. Which logic gate is represented by the
g, function F=(xy) ? AND NAND OR NOR O O O O
n Sebnsbe F=(xy) oFed b
Vertically and
. In K-map group can be created as Horizontally Horizontally
10. for function simplification. ) Vertically only jonly Diagonally both O O O O
. 12 !(75)‘4_'— £u3*;‘5*:“;‘13m£!uﬁa Vi K-map | st S 2 /2/}’(}’!.5/ Lok UInFinisst
_c‘_CCla
: . Which of the following tags is used to break
the line in HTML?
n 1 (rapBiufe taitnd £ bt gudiv HTmL| <P></p> <br></or>  |<p> <br> O O O O
e bt i
. 12 How many types of lists are there in HTML? 3 4 5
T turs Ao ML o O O O
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Time allowed: 2:45 Hours

COMPUTER SCIENCE SSC-li

Total Marks Sections B and C: 43

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.
SECTION —~ B (Marks 27)
Q.2 Answer any NINE parts from the following. All parts carry equal marks. (9x3=27)
(i Convert the following FOR loop into WHILE loop.
int k;
for (k=25;k>0;k=k-3)
printf (“\n%d” , k) ;
(i) Write down the syntax of IF-ELSE statement. Also make its flow chart,
(iii) Describe rules for specifying variable names. (Any three)
(iv) Draw the symbols for the following in flow chart.
a. Start/Stop b. Process c. Decision
d. Input/Output e Flow line f. Connector
(v) Describe Compound Assignment statement with an example.
(vi) What is the use of the following in SWITCH statement?
a. CASE b. BREAK c. DEFAULT
(vii) Write the following statement using conditional operator.
IF (x>y) z=(x+y)/3;
ELSE z=x-5%*y;
(viii)  Differentiate between '‘Conditional’ and ‘Counter loops’ in C++. (Any three)
(ix) Draw a logic circuit of the following Boolean Function (simplify the function if required):
F=xy' + xy'z+xyz
(x) Briefly explain truth table with suitable example.
(xi) Differentiate between ‘Website’ and ‘Web Server’.
(xii) Write down the symbols and truth tables of the following logic gates:
a. NOT b. NAND
(xiii)  Write down a code to display “My Computer” in “Heading Style 1" in HTML.
SECTION — C (Marks 16)
Note: Attempt any TWO questions from the following. All questions carry cqual marks. (2x8=16)
Q.3 a. Correct the Errors in following code. Re-write the correct code. What will be the output of the correct
code?
void main (void)
{char ch;
ch = ‘¢’
. switch (CH)
{case ‘a’:
printf (“\n Good Morning!"”) ; break
case ‘b’:
printf (“\n Have a nice day!”); break;
case “e¢':
case “d”:
case “e’:
printf (“\n Good Bye!"”); break;
}
b. Differentiate the ‘Informational’ and ‘Educational’ websites.
Q.4 a Write a program to display following output using any loop:
1
24
369
481216
b. Differentiate between “unary” and “binary” operators.
Q.5 a. What is an algorithm? How is efficiency of an algorithm measured?
b. Explain the importance of flow chart for solving a problem.
~—— 2SA-I1 2311 —
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(9x3 = 27)

int k;

(270 P

.u.‘.‘d Y1V ».fu: )’/k;uf Lz (09))4_(51( 4-&4}.5,.?14? Hg / Jlr

S/ Ut WHILES  JFORs 501 (i)

for (k=25;k>0;k=k-3)

printf (“\n%d” k) ;

S Flow Chart)._wlg)ﬁﬁ)’ |-uﬁJ Syntax(_')"’-‘? IF-ELSE (i)
(ufc_é/)_g/-/uy.qu’_ L (variable names)Urt L=t 2~ (iii)
S wd Ldstmstesd (V)

Decision L Process  -o Start/Stop -

Connector v Flow line -  Input/Output 2
S L Je e (compound statement)*¥11 J:Sg (v)
e Jek gt Fiswitegy (V)

DEFAULT & BREAK - CASE 3
_J.'.J e EntnZ_ S Jé1KConditional Operator) /‘“/,.TJ’:‘,U (vii)

IF (x>y) z=(x+y)/3;
ELSE z=x-5*%*y;

(ufc_-é:fj-ufﬁg}/ U L(L00ps)%)’(C0unter)j~'5KJ;l(Conditional)ﬂﬁ(ufc+ +  (viii)
F=xy + xy'z+xyz -(Ufkf.(simplify)dl/‘{fui@;naﬁ/"’/él)uft:\_‘a’//...QUwaEd}fa}@» (ix)

.y Seo Lé;d/ (Truth Table) L L J&rbs (x)

IS nLinp A (Xi)

Li(Truth table) U #5/(SymboD)= kS (logic gates)gfff =N (xi
NAND - NOT -

0 L8 S 46 MY COMPUTER” U “Heading Style 1” AHTML (X

(2x8=16)

void main (void)
{char ch;
ch = ‘¢’
switch (CH)
{case ‘a’:

case ‘b’:

printf (“\n Good Morning!”) ; break

(1 6/~.’) ‘j/ )ﬁ ¥ ™
-y, / Luﬂrrl?-é‘f (Jl)’)):.-él’j

N T Ay

e
_uﬁ”‘j uL»/ﬁf )

o sl 2 2 5T

printf (“\n Have a nice day!”); break;

case “c”:
case “d”:
case “e’:

printf (“\n Good Bye!”); break;
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Monkey has chromosomes. 5 i E 5 5
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?‘Ldn(f{‘vlﬁ(fffr;/gﬁuk S E E 5 ) E O O O O
. s a = = B
n Fats —22%= fatty acid +: |
Engymes y : o Glucose 1Energy 1Glycerol tAmino acid ¢ O O ' O O
- LA j‘;“j:[‘ ul_:bégjff- duy 0 éjdli.:’l
. E i : i i
. §Division of
3 The growth of body and cell is the result of: :Digestion ‘labour :Diffusion 1Assimilation O O O O
- -C‘--:/"UM/L J’FW;ﬁ&fimr)-ErWl E(:.}'JFK E‘.‘u.{" ftéu4,z ; .
u : : 5 : .
. Wheat and rice give same amount of; ; : : :
calories per 100 grams of food. ; 100 5500 5348 , 5155 ;
S i3 412151 100 oS e ot i i ' ; O O O O
. b a | | é
- : E : .
Vitamin B12 is called: ~ !Riboflavin ‘Thiamine gAscorbic acid éCyanocobalamini :
a e bUUB b L L A P Y 7 ol i © 0 O O
L z | | = z
B 'n the absence of vitamin . theg ; :
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6. , . , . ' ' 1 H
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| Y | | | |
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| | Question Jb. A 1+ B 1 € : D
Almost all of the harmful ultraviolet radiations§ Carbon
g are absorbed by: Ozone ‘dioxide Oxygen :Nitrogen :
& o N e 2ol F !l AT T N 5
‘ - 3 i 5 ;
Which fraction of petroleum is used in heavyi EReﬁnery
9 vehicles as fuel? EPetroI 1gases : Diesel oil iKerosene oil .
S b s AU ST K s 5 s LR 6P Nifs; irt2r s ;
The capacitance of capacitor is measured in: 1Ohm 'Farad Volt SAmpere
10. ; Vo : : :
PN NE N AT i3 t s e : o O O O.
According to Ohm's law, voltages is: n
11, proportional to the: y ECurrent iPower ECEapacutance ECharge O O O O |
._cl'_,ufh_/l';zilzé @JJ"JWLUJ‘GL("JI:\_‘}/ :/Jg :ujlfr :(y/(_g ! .
MRI, basically gives the NMR signal image! ,
from nucleus. :Carbon :Nitrogen Hydrogen 1oxygen i
12. — , ) H ‘ ' 1 1 ( ).
-‘L.Q)glJ‘}cNMRZ.u”CVE 41}1’6)9.’MRIEU:/( 5(f)/"5t Etfu,ﬁ(’& EJ"JT . O O O
The conversion of iron into steel requires: Carbon 3Zinc E Copper Nickel
13. . N I : 1 ' i
ebrenfd. LLLNw S s | vk ) Pt P ; o O O O
PINSTECH started the supply of ' : ' I
radioactive isotopes in: ;
14. , . 1 1967 + 1950 1977 11972 '
St Ju-SU 77T L_PINSTECH | | 5 5 ; © O O O
Pakistan's first satellite Badar-I was sent 5
into space in ! ' ' ! :
15. 11980 : 1985 1990 11995 :
LU leskende gl e ; : ; ; O O O O
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GENERAL SCIENCE SSC-li

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Sectlon ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 36)

Q.2 Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. | (12x3=36)
) Write down any three important functions of Enzymes.
(i) - Give two different ways of white blood cells combating against the diseases.

(iii) What are different blood types in human?
(iv) In case of an injury, which vitamin is helpful?
v) Briefly discuss the importance of vitamin B1.
(vi) What immediaté steps should be taken in case of an accident?
(vii) Compare ‘troposphere’ and ‘stratosphere’.
(viii)  Discuss any three advantages of green house effect.
ix) Write down the methods to reduce water pollution.

X) Briefly explain the term Electric Current.

(
(
(xi) Briefly discuss the parallel combination of resistors.
(xii) Differentiate between Alternating current (A.C) and Direct current (D.C).
(xiii)  How does ECG record an electrical activity?

(xiv)  Discuss briefly the application in of laser in computers.

(xv) Describe the steps for the manufacturing of sugar from sugar cane.
(xvi)  What is meant by hovering satellite?

(xvii)  Write down the uses of space shuttle.

(xviii) Write the maih objectives of Pakistan’s nuclear program.

SECTION —~ C (Marks 24

Note: Attempt any THREE questions. All questions carry equal marks. (3 x8=24)
Q.3 a What are Antibiotics? Explain.
b. Discuss in detail the fat soluble vitamins.

Q.4 Describe the mechanization in agriculture sector of Pakistan.
Q.5 Write a detailed note on Pakistan’s Space Program.

Q.6 Discuss transformer in detail.

~——28A-11 2312—
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Version No.

ROLL NUMBER
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1|3

1

ESSENTIALS OF HOME

ECONOMICS SSC-li
SECTION - A (Marks 15)

Time allowed: 20 Minutes
Section - A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed.

Do not use lead pencil.
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S fiendb LS L L2 LYy, Invigilator Sign.

®©@ Q0 @ ® ® 6 @06
®@ Q0 @ © 6 @0 0 e
© @ 0@ 60 @0

©
©)

Answer Sheet No.

Fill the relevant bubble against each question according to curriculum:

Candidate Sign.
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| Question i A i B | c Al B | c| D]
Fungus affects _ fabric quickly. 1Cotton Woollen i Silken ‘Man made O O O O
el 4 & SimT dr ol : o i Bls? ;
: Sewing 'Fitting
A is used for sewing clothes. iCroatia ‘machine iTools 'machine
_‘4.(7:’:'1)1;7/1 z_‘.LJIJ/JU:kHE_UJ/ l EJ—’?JU/ 5;14: Eu—‘i‘.ﬁ! E O O O O
Natural fiber is obtained through
sources. ! ! ! ! !
. . a2 3 4 5 :
_u}'f_)f(}lbcdl/} 2_16/ 'E E E E i O O O O
There are types of personalities. ' :
219 16 7 :8 O O O O
i e : : : :
The children who are 2 to 5 years of agegReligious iMentaI _ ESocial §Financiall
attain along with physical growth. :Awareness 1Awareness iAwareness iAwareness | O O O O
S A LI e L SNy niP 0h s A0 P Lt F e E
g S S L 3 P :
There are factors that play a vitalé : : : :
role in the selection of dress. : ' : : H
: : 12 '3 4 :
-utdeLaahs SN SV : : : ; © 0 O O
There are types of values.
5 2 3 {4 O O O O
U S :
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| | Question wi. A | B | ¢ | b ia]lBlc|oD F
A balance between income and expenditurei '
g can be better explained WIEh tr.le help of: ' gBudget EExpfendlture iSavmgs EImE)a.lance O O O O .
-‘gatk(fé—/il. O//_y"g(falgli.luldil’:bhfc 1l 71 Lef vty 2 '
9. Setting of goals is a/an process. iContlnuous iSmaII éUn.lmportant glm.medlate : O O O O .
<t L asteet S {74 He-4 7 :
Energy is the biggest source in ' : : B
10, resources. ) o iF:nancual EI‘-luma\n 3l.\lon-‘human 3I‘n(iome : O O O O |
¢ A et LIS JLslus 'S AU QU S V0T ' .
Al the things ! i : L
'in our iAll the things ! E '
Environment mean: ysurrounding ‘at our home iRoads 1Gardens : .
11. : ' ; : O O O O
S P L Bit Ui iyt f Ly ey : -
EEYRT ; : E :
1. Diagonal lines give the impact of: . Ekjappmess anef EDfepreSflon ESadness O O O O .
YRy 1 b &GS {en'd WEFLRys o 5
By how many means balance can be 5 5 5
created? o ; i : ;
13. ' '3 4 5 6 ‘
te Ceine Ut pE i | ; ; ! ; o O O O
Art is a mental and internal state of human ! Aesthetic ' Common ! Political : Religious E
which deals with: ©+ isense i sense | sense 1 sense :
14, S . : e L v :
e &L"(fq_cé.fduil/’ld"}d/uuuuf E Jdas EJ (i1 E V' 1% E 2S5 a E O O O O
1s. In art emphasis is alan: 5 E.Iement Principle gSource gMethod O O O O
) -4 ..gl(.:ul’t'/u!:() L T 2 ' at '
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Time allowed: 2:40 Hours

ESSENTIALS OF HOME ECONOMICS SSC-II

24

Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

(i)

(3x8=24)

(12x3 = 36)

SECTION — B (Marks 36)

Q.2 Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines.

What is clothing?

(i) Enlist different methods of fabric making.
(iii) What is meant by sewing kit?
(iv) What is meant by making pattern from a draft?
(v) What is meant by cutting of dress?
{vi) How many types of personality are there? Write names.
(vii) Highlight the importance of ‘values’ briefly.
(viii) ~ How many types of goals are there? Write names.
(i) Briefly explain the term ‘standard of living’.
(x) Write short note on management of resources.
(xi) Enlist the steps for correct use of energy. (Any Three)
(xii) H'ohw..many types of poliution are there? Write name.
(xiii)  What is meant by sanitation? >
(xiv)  Write down the types (kinds) of lines.
(xv) Through how many ways can balance be created?
(xvi)  How many types of designs are there? Make list.
(xvii)  Which aspects should be kept in mind while designing dress?
(xviii) How can we use art in the environment?
SECTION — C (Marks 24)
Note: ~ Attempt any THREE questions. All questions carry equal marks.

Q.3 Discuss the various methods of identification of fibers.

Q.4 How should the dress be selected according to the type of personalities?

Q.5 Briefly explain management. Write the elements included in the process of management.
Q.6  What is meant by rhythm? What is its importance in home decoration?

@6~ FY e

(12 x 3 = 36)

(3 x 8= 24)
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FOOD AND NUTRITION

SSC-II
SECTION - A (Marks 12)

Time aliowed: 20 Minutes
Section - A is compulsory. All parts of this

handed over to the Centre Superintendent.

Deleting/overwriting is not allowed.
Do not use lead pencil.
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| Question ot A { B { ¢ D +A]|B]c]| D]
Milk is naturally soured by bacteria. iLactic acid  :Cocci 1 Spiral iRod ; 0O O O
bS5 b3 e M,Cﬁ (7 Wi Wi g
Egg contain vitamin: ic ‘A 'B-1 ‘B2 5 ®) O O O
—gbtn ke b : i E :
Organ meat are good source of: EZinc élodine Elron éPhosphorus O O O O
g batal e A 5.1 IS g i LU ‘
Sea food are good source of and:Omega 2 ‘Omega5  :Omega 6 ‘Omega 3 i
vitamin E. - ifatty acid fatty acid fatty acid fatty acid 5 O O O O
B e TG G2 | LAl LA 6 LGS E
The flash of young animal is in: :
colour. iPinkish red  iBlackish red :Greyishred :Brownishred ! O O O O
e bk E =¥l LA L 08 L §(',/u"/ it ‘
Fruits are very low in: i Carbohydrates | Mineral i Proteins ‘Vitamins O O O O
ol e bnf e WL AET 1 Hethedry, b ;
One table spoon of brown sugar provides: : i ; ;
calories. 112 113 115 ‘16 ; O O O O
..q.tau._/l/ f é’ ugli f i E E .
Giblets of poultry are: ESkin Head iLiver EFeet
—e bl o 6 ol A L ¥ e : o O O O
Do not store in refrigerator. éPeas iOnion iReddish iCarrot O O O O
-elgu.‘.‘”lﬂ(/u‘f]/[ g,‘f gjL; idr‘ ;Zb’ i
During pregnancy mother need twice! : ! : !
for baby skeletal system. . iCalcium 'Vitamin iFats iCarbohydrates !
Jﬁw/lﬂdr)-:«u/d/ ALUL*J{./U%JEE(V EJL‘) ;JLE E?W E O O O O
- i 3 | z |
Soak legumes in water for hours. |
1 3-8 14-7 11-3 12-6 :
P SV YT : : : ! O O 0 O
High acid fruits like need no, : : i :
preservatives. ‘Apple 'Banana Guava iStrawberries
enpSidni Se7 2L e ol : - W iu/l id/;.r/‘ . O O O O
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FOOD AND NUTRITION SSC-li

Time allowed: 2:40 Hours - Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 =33)
() What are bacteria? Enlist their types.
(ii) Write reasons of preservation of food.

(iii) What is “salting and sugaring” methods of preservation?
(iv) What are symptoms of food borne diseases?

(v) What are the dietary needs of infants?

{vi) Suggest preventive measures against malnutrition.

(vii) Compare between Braising method and Roasting method.
(viii)  Write a short note on “safety in kitchen”.

(ix) How are cereals and eggs stored at home?

(x) What is the difference between stale egg and fresh egg?
(xi) What points are important while buying fruits and vegetables?
(xii)  Enlist nutritional composition of milk.

(xiii)  What is hydrogenation? State its uses.

(xiv)  Write good food sources of vitamin C.

(xv) How is budget for food planned?

SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10= 20)
Q.3  Write a note on selection and storage of: a. Meat b. Fish
Q.4 Wirite a note on dietary need of a pregnant woman. Plan menu for one day for a pregnant woman as well.
Q.5 Explain different methods of food preservation.

(334-# JI/)(’».J

(11x3 = 33) 2 w338 B prdg e f LAz bl §S e ks gt Ay
Izt S U (i) e d Stk (i)
te Qe ShaSbs” (V) Se WIS b G (il])
g st AL Sl (vi) SR PVSIEA ALY, (v)
s B A (Vi) LGBy (Vi)
SIES St et (X) St AU T Uiy e (ix)
el ALz Seosss (i) ¢ bl US s Pl e S (xi)
Sher dSBsg AL (XiV) S L e 3y (i)

\pLt bl LS (xv)
oA S)fr e
(2x10=20) (2 LudrpigEf Jrne )
PRI L LN I L ST S o
Lol el Lo o P ed pehs OIS E S e A
I eolosSus bt L5 S ik 0 Iy
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| Question o: A | B | € < D i A|lB]c]| D]
Blue pottery is hand crafted with the ! Brown and gRed and ;Red and 'White and
combination of clay. tyellow 'white 1yellow ryellow '
YAy g G fL e e Ay Seads L il ;Jjuq',/ e ; O O O O
Dancing girl was made in which medium? iCopper iBronze iSoap stone éSteatite O ' O O O
Setie g A i} S il | A A :
glndus school iSindh school §Nationa| éKarachi
Rabia Zuberi setup: (of art vof art ‘school of art ischool of art
by LSt S ASTIE s A ST Ees TeASTUFSE e AT o O O O ,
The patterns used in architecture and: : E E
apparent in wooden furniture are known as: : : : :
components. iFictionaI EFundamentaI 1Architectural +Historical ; O O O O
JP‘L(J/,:/Z:(’}GIYL-/LDLHJWIJ ;:«lji(}?/ 26,'['}. Eafﬁ?’ : E@/r E
Uty sp L U '
Chinese warriors wore armor made of five to ‘Rhinoceros | : 5
seven layers of were similarly used by: Deer skin and iskin and ox :Turtle shell  {Bear skin and ;
the Mongols in 13" century. 1ox hides +hide " iand bear skin {ox hide O O O O
u:’:‘;fﬁri":dvu)(}au:.;al/c.ég(f ;GU:Z E JJ'?JJ'JJJU/T EJ{;I}'JJJL_UE Jaf-u)ldi'ft_){ 2 Jﬁuldlf&nf-/ é
Ut bamg e 2SS g g o
Kohari experimented with inE :
ceramics. : ‘Yarn  Fabric  Wood 1Glazes )
_4:,[./:4?1/5 u:d)'ufd_d/;/i f(m E|[ ;d}d E;.f/d}u/gfu E O O O O
The script on the seals of Indus valley is still::Incomplete ! Unique ‘Undeciphered ; Realistic ; O 0O O O
< ES1s forr g Soitsi M L L g
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Time allowed: 2:10 Hours | Total Marks Sections B and C: 28

NOTE: Answer any six parts from Section ‘B’ and any one questions from Section ‘C’ on the separately provided
answer book. Write your answers neatly and legibly.

SECTION — B (Marks 18)
Q.2 Answer any SIX parts. The answer to each part should not exceed 3 to 4 lines. (6x3=18)

(i) What is the significant role of Shahid Sajjad in Pakistani art?

i) What were the common motifs used on coins during the Muslim rule in sub-continent?

(iii) Why is Hala famous for its pottery?

(iv) Write few lines on armour from Mughal period.

(v) Briefly explain the technique of wood carving. Mention any regional example of this exquisite art.
(vi) Write a note on Fasting Buddha with its significant characteristics.

(vii) What is the common medium used for the seals of Indus valley?

(viii)  Write your opinion about the ceramist Mian Salahuddin as a pioneer artist of Pakistan.

(ix) Describe “Dancing Girls” found from indus valley.

SECTION — C (Marks 10)

Note: Attempt any ONE question. All questions carry equal marks. (1x10 = 10)

Q.3 Whatis so special about Chankhandi graves? Write in detail.
Q.4 Give a detailed account of wood work in Pakistan with the reference of its motifs and techniques.

(1 8/-rj gﬁ)ﬂ)J

(6x3 = 18) :g.‘.‘l MRt EUs prlocik L(OG),g‘-_J/ e LIS skn Iy
e Ubpatute el (i)

s S e uflsf 4u,¢é|/u:yﬁj,;£uiwwfi" Y (ii)

SIS U eS8 S Gy (iii)

5 F b sz sl e 0 LU (iv)

S IESs LSS g S GBS (V)

IS Spedos® ('flf!-u’.‘fﬂ 29 flon B (vi)

0 St 2 L b e miot (vii)

s L e A L Mo Soid s s b S8 o Vol (viii)

i AL L1 e miot (ix)

_ (10~ f)f'r_.z’
(1x10=10) | (as A Ludr gL Jr L35

LT S U AU > Ay
LIl i3 b e S sl KRS I U] Ay
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|Question db’i A B c D A I B | c l D |
In which city Dr. Allama Muhammad Igbal: ; i ‘ ;
(%) was born on 9 November 18777 iLahore ‘Karachi : Sialkot 'Gujrat ; O O O O
NI NS L el f11877 299051 4 ik S0 ' sl ' QS : el ' oy .
When did Ch. Rehmat Ali present the word! 5 5 : :
" “Pakistan”? : ; : : :
. 2. ) 11933 11934. 11935 - 11936 '
WU I e afuns s s | 0 0 0 0
- 5 ‘Lord
. i continent? | ! : : :
. 3 Who was last viceroy of sub-continent? . :Lord Curzon : L'o,rd Manto :L?rd Attlee :Mountbatten : O O O O
S &Sl AL Aot i S LA L N 5 ,
= f i E i i
. The demand of separate electorate byi .
Muslim League was passed in the year: ' : : H '
4, 11906 11909 11908 11910 -
n ST E NS i 3 E : o O 0 O
| | § | 5
- When were first general elections held in§
: Pakistan? ag ; : :
5. 11970 11977 11985 1988
- 02 S A1 bl X ; ‘ i O O O O
n : : :Choudhry !
: Who took over the charge of government in:Malik Ghulam : Field Marshal :Muhammad :Sikandar
. 6 the year 19587 Muhammad Ayub Khan :Ali iMirza
S Lo BN 1958 1 £ i SN SV LN AT -

'
’
]
'
i
d
]
]

Who was elected as president of Assembly!
on 10" August 1947 by the 1% constituent: Liaqat Ali 'Muhammad
Assembly of Pakistan? iKhan ‘Ali Bogra

8 b1 1947210 8T sidb Sl oy Sk s

The Quaid-e- :Khawaja
Azam :Nazim-ud-Din
b2 lyafeas

O
O
O
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l I Question Jr A E B ; c i D A I B I c ’ D
: E E y D i
Local govt has been divided into how many: EF
parts? 'Two 'Three ‘Four 'Five '
8. 1 1 Ll
vc.rwfﬂu:uﬁcff./fdu, %3 e 16y E o 0 O O
When was the first constitution of Pakistan'
enforced? v ; : ' '
9. 11956 11962 11972 1973 '
st S LT u/bfulft ! : , : O O O O
Reserved seats in the district council for: . ' -
women are: i ' ‘ :
10. ' 13°/ 133% 123% '43% '
- ,wJu,»-JJ/L.ﬁuwu'u‘fé" ’ 5 ! : : ©C 0 0 0
What is the total number of the members of : ; ‘ ;
the union council? : : : :
11, . . L) '14 17 128 '
?q_u'/)uﬁufu:@u)‘éd’fw: : ; ; ; © O O O
When did the Quaid-e-Azam (%%) jOln- ' : ,
Muslim league? ; i i ;
12. '1906 11905 11916 11913 '
?a_nJl/Ju'-.ﬁfV}‘yllﬁ'. ; ; ! ; © O O O
When was the construction of the : , ! : ; 5
Karakoram highway completed? ‘ : ; : :
13. - 1 1964 11965 11967 11969 ;
“J:td"(h.fi'cfr/'/’e'ﬁﬁ Vi O O O O
Which country is situated in North West of ' : i 5 5
Pakistan? . Afghanlstan : Bharat 1SriLanka  lran :
14. H 1 / ; :
“f—db-ﬁwfduf'dvéuu’t uuu: a ETM Ny oy i O O O O
- 15 When did Geneva accord take place? ! 1988 ! 1989 11990 11092 O O O O
St Sonbootrd 1 ; ; 5
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CIVICS SSC-li

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 36)

Q.2 Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12 x 3 = 36)

(i)

(ii)
(i)
(iv)
(v)

(xi)
(xii)

(xiii)

What is source of ideology of Pakistan?

Write any three writings (publications) of Sir Syed Ahmed Khan.
Briefly explain the objectives of All India Muslim League.

What is meant by rigid constitution?

Write down any three Islamic provisions of 1962 constitution.

When was the first report of ‘basic principles committee’ presented?

What are the objectives of local Government?

Who is called the DCO?

Write names of the departments working in district council.
How did China help Pakistan in defence Affairs?

Write a brief introduction of Islamic state Iran.

What changes has the world trade centre incident brought in Afghanistan?

Narrate the stance of the Quaid-e-Azam (3i%) on Rowlett Act.

(xiv)  Which basic rights have been mentioned in the constitution of 19737
(xv) Write a short note on the system of basic democracies by President Ayub Khan.
(xvi)  When did Islamic Revolution take place in Iran?
(xviiy  Write the Importance of SAARC conferen;;e 1988.
(xviiiy  Write briefly about Indus water treaty.
SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x 8= 24)

Q.3 Whatis the meaning of National Integration and Cohesion? Prescribe necessary measures for its promotion.

Q.4 Write down the main characteristics of 1956 constitution.

Q.5 Write a detailed note on brotherly neighbouring relations of Pakistan and China.

Q.6 Lahore Resolution 1990 is an important milestone in Pakistan movement. Highlight its importance in detail.
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* | Question . A | B < ¢ { o Aa[BB]c]p]
[ A0 algebraic expression of the form: E
u P(x)’ O(x)#0 and P(x), O(x) areg i
0(x) !Irrational ! Rational ; Hrrational
.1. polynomials is called: 'number iexpression EPure surd sexpression ; O O O O
£r0W 20 pt srphrpy DO goeded I eest g
N 0(x) ; g g : |
_c.tll'{ UﬂuU//Q(X) »i P(x) 5 E S E
o . e | : |
i o 3 2 . ; ' : : :
: f 2 : ' ' 2 ) . :
n Factorization of x~ +6x“ +1 );+8 is: (x+2) E(x—2)’ f(x+2)2 ;(x—2)2 i O O O O
- (’LJJ/Jx +6x° +12x+8 ! 5 5 5 5
n LCM of x2—49 and x2—~4x—21 is: ' 2 : 3 32,2 ‘
.3. ‘ ) 5 ' §114+73x~49x521;]31+49x Ex3—49x~]47 f1‘:73x —49x : O O O O
tetf Frowsg x° — 49 x© - 4x - 21, ; 5 ; ;
T s | |
) Solutionof —x+—x=+~— . . 9 E s
N, 476 41 1 5 i%=9 px=3 x=3 ix=5 O O O O
eyerfE—x+—x=+=1 E ' : : :
n e 46 TG : : : .
n fP(x)=x>+3x>-3x+1 s divided byf
x+2, then P(-2)is: ‘ f f :
' 10 -1 t—11 :
w i o4 (x+2)f P(x)=x"+3x —3x+1f ; ; 5 : o 0 0 O
n < PD)| a z a z
o Write down the angles marked with letters: 5
N E E ; E
P E : : : !
| M N ; E ' ; ;
'P=58, 1P=132, 'P=58, P=20, !
.6‘ 580 1M=N=60 ‘M=N=100 1M=N=122 ‘M= 102 N= 20 O O O O
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What is the value of x° in figure?

-Lj’/((}l”}u;’un ol

175°

45°

60°

90°

s n nall

O
O
O
@)

If A" =—A then 4 is called:
?§_I:‘U:'(_U/A~_Jl§'?ﬂ A =—A4N

Negative

matrix
g

Skew
symmetric
matrix

SIS

Symmaetric
matrix

S

Square matrix
el

O
O
O
O

Sum of two supplementary angles is:
<bn ANy
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'
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180°

120°

90°

: 600

O
O
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In a triangle, a line segment joining a vertex:
to the midpoint of the side opposite to it, is;
called: :
.f_tuc_ﬁnf”;ééj’._ﬂl?ﬁmfuuéﬁzyu_ﬁf

..lat‘lh( E

10.

Median

2l

‘Angle
bisector

ALY sl

Altitude
Lis

Perpendicular
'bisector

1T

O
O
O
O

According to Pythagoras theorem the square !
of the hypotenuse of a triangle is:
equal to the sum of squares of other two:
11. sides. '
WL B Lt LI Lt

_c._t'n/,l/,éinf Lyl LEke s

Isosceles
AU

Eduilateral
Lz~

O

O

O

O
N

A point in the first quadrant is characterized!

12. - . - !
o!:/&dlf.:.dﬂcd!"gt{ﬁdbufd/éﬁ

Y, ¢

*
3

by the fact that both of its coordinates are: i Positive

Negative

ig

Scalene 'Right angle
Likspiil® LA NG
iZero

: Positive and
Negative both

LU et

O
O
O
O

The area of equilateral triangle with each
side “a” is:
13.
Fusa" I AT F KL |

1
+
[
T
'
'
'
'
'
'
'
'
'
1
'

V3
2

a

3

a

V3
2

a

V3
4

Determinant of a singular matrix is:

14
-t det K6 sbLi
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There are methods to find H.C.F.
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Time allowed: 2:40 Hours

GENERAL MATHEMATICS SSC- I

provided answer book. Write your answers neatly and legibly.

Total Marks Sections Band C: 6
NOTE: Answer any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separatel

Q.2

Note:
Q.3

Q.4
Q.5
Q.6

Q.7

SECTION ~ B (Marks 36)

Attempt any NINE parts. All parts carry equal marks. (9 x 4 = 36)

0] Solve using formula (I +m)(I - m)I* + m*)(1* + m*)

(ii) Factorize Z* -Z*+16

(iii) FindLCMand HC.F x'+x*+x+1, x* +x’ - x-1
x-2 x-5_1

iv Solve —_———
(iv) 23

(v) Solve using quadratic formula (x+4)(x—1)+(x+5)(x+2)=6

(vi)  If P(x)=x"—kx®+3x+5isdivided by (x—1), find k, if remainder is 8.
(vii) Construct a square whose one side is 5 cm. (No need to write construction steps)
x+y x
2 .2
xy+y x -xy
(ix) Show that points A(2,-5) , B(—4,-3), C(-1,5) are vertices of a scalene triangle.

(viiiy  Simplify

(x) Find square root of (xz +—12~)—10(11L—1-)+ 27 , x#0
x x

. 1 2 -1 3
F = = i .
(xi) or 4 [3 _2] B [4 2} verify AB= BA

(xii) Express by an equation the fact that the point P(x, ) is equidistant from A4(2,4) and B(6,8).
(xii)  The sides of a triangle are 15¢m, 36cm and 39cm . Show that it is a right angle triangle.
(xiv) If AABC = ADEF , then find the values of x, y,z .

B D
x+4 z+9
H
F
E y ~1
SECTION - C (Marks 24)
Attempt any THREE questions. All questions carry equal marks. (3 x 8= 24)

If mBC =5.4cm, mAB =4.3, mAC =3.9cm :
a. Construct AABC b. Find the In-centre
A man is now 5 times as old as his son. Four years ago, the product of their ages was 52. Find their
present ages.

A belt and a wallet cost Rs. 42 while 7 belts and 4 wallets cost Rs. 213. Calculate the cost of each item.
Find the area of shaded Region.

8 4
For what value of x, x* +4x? + x + — +— is a complete square? (where x#0)
% X

—— 28A-i1 2318—
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S umr(03)uf F e 4 au‘(r,vﬁ;m(og)yér»y-uud(dlff S asdetizlatyr Leyseno  wbd
e w.rff stttz LT
(36~ Jy)f’»;_ﬂ .
(9x4 = 36) 1A Ly (2L 2(09) I e bidspsir ¥ AU
(@ + m)(l —m)(I* +m* )P +m?) g S erallr i (i)
zt -z 4165tz ()

X+ ex+l, v —-x-1 -q/r)*’fuw,mﬁ";u (iii)
x-2 x=5_1 .
7 e e W
(x4 D=1+ (x+ ) +2) =6 LSS esad KGw (v)
e d STtz di8a i/, (-1 P(x) =% —kx*+3x+5 ] (vi)
(B e SES ) e 58 bl el i (Vi)

X+ X o
Yoo m A (i)
xy+y X —-xXy

AL SIS F L A2,-S), B(-4,-3), C-L5) s S et (X)
( 1) 10(x+1)+27, x#0 g5t 8 e (x)
X X

AB;eBAfo,/:f.L*éL.B:[;I ﬂum{; fz]u:-’b” —(xi)

LRSS il S U1In o fic B(6,8) 5 A(2,4) b6» P(x, y) /i (xii)
AL 2l gt D1 256 L o S 6 it 39cm 131 150m, 36cm UL St el (] (xiii)

D /o3 8 x,y,2 Jun ABC = ADEF /i (xiv)
x+4 z+9
€ }::-l F

QarA Iy

(3x8=24) (s Lol ESDrfeald
Jus mBC =5.4cm, mAB=43, mAC=39cm /i #ZJir
SIS, ShaaBo et

L/ fuardaBsae A oK fSUdndidia-c bt bLEfuard bt forr§STL Ay
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" Answer Sheet No.

S fierndb LS L o2 Ly, Invigilator Sign.

Fill the relevant bubble against each question according to curriculum: Candidate Sign.

lQuestion dlri A B c E D A l B l ¢ l D J
The head of State Bank of Pakistan is called: : Minister 1Governor iPresident §Advisor O O O O
?q.t’lkv(gpl/,/(ulyjl;df.,é:/:"gl_b i/'/f E.u/ §ﬁ‘/ i
According to the land reforms 1972, whaté ;
was the ceiling limit of owning canal irrigated! ' H : H
land? 1150 Acres 200 Acres  :250 Acres  :300 Acres ! O O O O
Vel wd il fOb Laboia 5519721 £1150 1 41200 | £1250 1 £1300 ;
thch type of budget is considered to be the§ EBalanced iSurpIus gExceeding
best? ' Deficit Budget: Budget :Budget :Budget '
St nd ot i A5 e N s 5 © O O O
; iCentral Bank !
Before July, 1948 was functioning as: State Bank of | ‘Reserve 1of ;
the Central Bank of Pakistan. EPakistan ENationaI Bank; Bank of India ;Bangladesh 5 O O O O
P L &Sy Lok F o noasfuziol TG |G WS Gy LESTGSS
_WQ/QJ(EI/S E E E 2, E
In Pakistan the budget period is: §06 months 501 year 502 years §05 years O O O O
- :;D»(.‘»quful"/@ E g E JuLi s Edl/é_t_ :
Which of the following is NOT thei Receiving , iProviding gPrinting new ;
responsibility of commercial banks? 1deposits 1Issuing loans :lockers inotes : O O O O
?‘a‘gﬂ;dﬂ),‘i({u@a/?u’dfc.ufa}(g/) s l:/d:‘;ﬁ/ EI?/((TI/.J; Et/cl«a’)/(ﬂ E 4 ,-AJZ- E
Which city is famous for sports goods? Lahore Karachi EWazirabad éSiaIkot O O O O
Se i & L LK L)t g AT L : -
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| l Question Jir A B c D :
In which year was the National Bank 0f§
) ; o ' ' '
g Pakistan established? 11949 11952 11960 1948
G ul‘/@_ﬁ.@d‘: ' ! :
iMonetary :
9 The exchange of rice for wheat is called:  iexchange ;Barter system;Borrowing Help / aid
. Eu{)déb‘//’ Eq)df/'/[. ;u’; slal

2.5 tolas
L s

17.5 tolas
L7115

8.5 tolas
L7985

7.5 tolas
915

Zakat is liable on of gold.

eglr Gt es Gl

10.

O
@)
O
O
u

i

"After partition million Muslims
migrated to Pakistan.

S pueliuib gt AL

11 9.5 2.5 12 7.5

Pakistani currency was issued for the first

12, time in:

1949

1974 1947 11948
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'

' Sports

holds the top position among the E .
exports of Pakistan. i Carpets Rice Cotton cloth ! goods

o O O O

13.

g et lfued o5 Jre 140y KU
! Domestic ) Foreign : National

Inland trade : trade i trade

LN (1 RS 1

The movement of labour is difficult in: Itrade

14.
_g‘fﬂuf (_54%:‘/(](;6/»] ey 112

o O O O

-

=AY

When were commercial banks nationalized

in Pakistan?

1974 1978

o O O O

15. 1970 1972
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ECONOMICS SSC-li

£3°)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:

Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately

provided answer book. Write your answers neatly and legibly.

Q.2

Note:
Q.3
Q.4
Q.5
Q.6

SECTION — B (Marks 36)

Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12 x 3 = 36)
(i) Write any three clauses of land Reforms 1958.
(i) Differentiate between domestic and foreign trade w.r.t trade restrictions.
(iii) Write a note on the Evolution.of money.
(iv) What is ‘current account’? .
(v) How did ‘lack of double coincidence of wants’ become a problem in the Barter system?
(vi) Write any three objectives of Zakat.
(vii) Name three rﬁain causes responsible for the change in vallje of money.
(vii)  How does the Central Bank act as a ‘Bankers’ Bank'?
(ix) What is meant by Co-operative Bank?
(x) List three major imports of Pakistan.
(xi) What is meant by Industrial Protection?
(xii) Briefly explain Budget. Also list its types.
(xiii)  List three main causes of Industrial backwardness at the time of Pakistan’s independencé.
(xiv)  Why is Istamic Economic system better than the other economic systems of the world?
(xv)  Write a short note on PICIC.
(xvi)  What is meant by Usher?
(xvii)  Write any six causes of low per capita income.
(xviii)  Write any three sources of Public Revenue.
SECTION — C (Marks 24)
Attempt any THREE questions. All questions carry equal marks. (3 x 8= 24)

Describe the advantages and disadvantages of International trade, in detail.
Write the differences between central and commercial banks.
What is meant by Public Debt? Also explain its classes in detail.

Write in detail, the steps taken by the government of Pakistan for the promotion of the Industrial sector.
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-uf’J 292 pIcic (xv) Ceud HaurBiliie., S BGSIgI (xiv)
g ST (i | e e (xvi)
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@4 Sy
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Answer Sheet No.
I hmendb LHESL 21 LYy, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
|Question dlri A : B c : D A | B | c l D !
What is minimum educational ability isg ' E '
required for the admission in LLB? ‘Matric F.A 'F.Sc iB.A ;
- edb 6 L L i K il FAI i o O O O
Computer and Information technology arei :
types of knowledge. ‘New :Old ! Special 'Ordinary O O O O
_u_?r:" &)’L’«?ﬁjlﬁu}l/‘g,{ia EA_I/, nglc 2(li 5
There are types of education. :

-wrl)'l

<

Secondary education completes in : :

years. .4 5 '6 7 :
e ntde Jf"Jﬁ"’weé ' O o O O

Which type of basic education is importanti ?Business and

for the industrial development of a country? iEngineering :Medical iAgricuIture icommerce | O Q O O
- § zaﬁld)g}.ﬁuJ (_‘_L(j;(}’}(f..ﬂi ..f/':‘{l EJ Ec’/lu’ EJ/V/;IUJ‘/, E
Hobbies give to the students. §Pain iAngriness ?PIeasure gAggression :
B o s O O O O

-0/ P

'
' : 1 1 ]
' 1 ' 1
T

'
i

From where does a child learn better social! : : : :
relations in the beginning? :From Street :From School :From Home :From Class O O O O
Y;.l%?c_ukfawa;'bﬂ/"ff/,u"amlé e e JF gé/ g Ut é :
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| | Question oo A + B 1+ ¢ + b alB]c] D]
§S hool :Sports
8 are called written activities. ‘magazine :Boy Scouts 'coopetmon 'ExcurSIons O O O O.

5 AR 2.3 5 W2, ;LbLu}[ : /u’lﬂ :
18t educational conference was held |n5
year. ) ' h i :

9. ) s 11947 11948 11949 11950 O O O
Py VTt Ay : : ; ;
Curriculum has elements.

10, ET[wree EFour EFlve 5Slx O : O O
i Lot L 16 (//t 4 '
Education from class 1-8" is called:
Elementary :Secondary :Higher 1Religious ‘
1. ; ; , p : L : :

g I B PR T AN 3 1o 1 i : O O O
type of education is necessary for! :

12, maintaining human heatth. ) ‘ EEnglneermg ELaw sMedlcaI 5Agrlculture ! O O O
_q_d,,/:/,«.(."’(f(’ 4.&&5((;/&‘@:;&’, i 0I6 E(ﬁy st !

13, is prepare_d from teaching material. ; Syllabus ECur‘rlcqum Text book ECourse O O O
-‘adng/L? r_.u(,(:l/&u Eu’-l/ gh,u : TG0 iu’// E
produce sportsman spirit in . .
14 children. 'Athletics ‘Exercise 1 Trip :Speeches !
_‘@Jnl,ggh‘//,d:uju;’ufu:fr_ E)J((}-‘-{ EJJIJ 56/".:/ :/_,/-‘] E
Move ;Showing the

1s. The literal meaning of guidance is: forward iway ;Se?rch sFlnd O O O
N S g1 v Ugﬁ'f LIy U fuh' i
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EDUCATION SSC-II

Time allowed: 2:40 Hours . __Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 36)

Q.2 Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12 x 3 = 36)

(i)

(i)
(iii)
(iv)
(v)

What was the message of the Quaid-e-Azam (#%) in 1% educational conference?

Into how many types, the education in Pakistan ts divided?

Why is the education of computer and information technology necessary?

What is Curriculum?

What is the function of Board of Intermediate and Secondary E%ducation?

Write the elements of Curriculum.

What is the function of Text Book Board?

How does curriculum inculcate values?

What is the difference between curricular and co—curriculgr activities?

What is meant by envir})nment?

Which types of valuves ;re developed in students with the help of sports and gamés?

Write three examples of individual hobbies of students.

What is meant by guidance?

(xiv)  Enlist the of problems of students.
(xv) Why is educational guidance necessary?
(xvi)  Write the process of counselling.
(xvii)  Highlight the importance of Home Economics Education.
(xviii) What is meant by Teaching Material?
SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal matks. ‘ (3 x 8= 24)

Q.3  Write the aims of educational policies in Pakistan.

Q.4 How co-curricular activities help in the growth and development of a student?

Q.5  Write in detail about the three professions of fields education.

Q.6  Write the different steps for the preparation of curriculum in Pakistan.

——— 25A-11 2320—
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Sl fS et (xvi)
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Sesl pW stk (XViil)

Q4 S )("r,__/’
(3x8=24) e Ludr gL Ird e 35
oy }Mwéum"gdf’“j ot AUy
supb S S BEE YU pS e S des Ay
-«Jfﬂadfyuﬁc_dgﬁux’ﬁuféff’-;m,,i; 01y
-u”'//jJ’l/aﬁ‘Ld/gJ.,wutuu@ Ay

—— 2SA1 2320——



EX

B Version No. ROLL NUMBER
o 212|111
|
= © © © © © © © © © © ©
- OO0 @ e OIONONONONONGO)
, GEOGRAPHY SSC-Il ® ® © O ®@ ® @ @ ® @ ©
u SECTION — A (Marks 15) ® 0 0 0 ©® 0 00 006 0
o Time allowed: 20 Minutes
. ' Section ~ A is compulsory. All parts of this @ @ @ @ @ @ @ @ @ @ @
section are to be answered on this page and, .
.v handed over to the Centre Superintendent. ® 6 6 6 ® 6 & 6&® & 6 ®
Deleting/overwriting is not allowed.
Do not use lead pencil.
. .4»/.‘.b’4,{fu:£f/ft/‘_:4)‘m.-.yz£m+dwdny ® ® ® ® ® ® ®® ® © 6
n LIS g D e © 0 ©@ ® O 0 0 © 0 ® O
-
® ® ©® @ ® © © © ® ® @
|
» Answer Sheet No.
a S fimerndu LS Ly 2Ly, Invigilator Sign.
_ Fill the relevant bubble against each question according to curriculum: Candidate Sign.
: | Question o A | B | ¢ | b alBB]ec]| D]
-1 According to 2004 estimate the population of ' :
) the world is: 16821 Million 6396 Million :7821 Million 18821 Million !
' —elfin Q)Td,gTJt_;)J,wLF»mLmMic/:‘6821 | 6396 §ULL7821 iaz”sszl o O O O
| 1 o ! : : E
At present gof land of the earth consists of.;D " :Pl ‘ :M tai :PI } :
- :Dese ; Plateaus tMountains ;Plains 5 O O O O
-2 -c.‘}?/ lk'.KufJ.-ﬁ)ulE'} 58/5/ 1y rly :
- — 5 | z | | |
. Pampas plain are in: EChina gArgentina EBelgium gGermany E
3. ' i - O O O O
. Y.V (O PVt 1oLt o W :
. . : H . i
1Educational : i Weather
. Atlas maps are used for: |purposes 1 Surveys : Demarcations ! conditions :
4. e b A s : ) : , O O O O
. e bt JowuB AL Loy L Lest i Lugiw LSy
. : E gAlong the
Y Dispersed settlements are found mostly in: iDeserts éHilIyareas érivers iPIain
L G AU Sl A s g‘wg{, gég,, i&u_/ © O O O
| | § | | §
" ; | 5 s s
.6_ Environment has types. 2 i3 4 i5 O O O O
etk Jst! : : : : .
" e : s | s
.7 Part of the earth under water is: éLithosphere gAtmosphere iHydrosphere iBiosphere O O O O
. -‘at'llp‘/ MJP 4(3&_2,47”(‘/" Jla/? ) f é JLmy i ;:,7»7 i ;«_l)au/ é
|
E' Page 1 0f 2 |



| l Question Jr A i B 3 c D A | B I c |
In R.F the numerator is always: 5
8. 110 101 100 11000 ;
wetbn .‘).ﬁayf/iﬁufd/u‘l/rz E 3 3 E O O O
: :Rock : i ;
1Physical 1formation and ‘Population
9. Geological maps show: Efeatures itypes 5Vegetatlon Edls’tntiutuon O O O
_‘gt'//;u; EGPJI:JUU&(}" :Julj’l-:ail'«.(;u}f?, retbl :dJU(-J ! .
s o | | |
Which city of present day Pakistan was:
i ? : : [ | : L
10. destroyed in the earthquake of 19357 :Lahore :Karachl :Quetta :Isjamabad : O O O
Spedts Ao S rr 1935 ) g v AT ,
In dense populated areas of the world, ! 5 :
density of population is persons per:More than ! : : '
11, SQuare kllorneter. ) 5100 25(?-100 51(?—49 ELess.than 10 O O O
—e XK 0 AT EOAT LU AT LGl 100 11, 150-100 L1 110-49 e fino :
Biotic components are divided into
parts. , H : : H
12. " . 5 12 '3 4 :
e b U f,mdgg; 3 5 5 ; O O O
The period after the invention of steam ; : 3
13, engineis known as: . EStonfa age EBronze age EMachLme age sNu?lear age O O O
_q_t'(gtf L:JL»!LJI?;IJJIL:,W E A6 A E.‘«U(@b) E;U(u:/ Ew&l E
§South ?North
14, Amazon basin is in: EAustralia 5Amer|ca EAmenca EP:SIa O O O
Y oA ik 2T £ £ 108 w2 ;
North has types. :
15. N 2 '3 4 \5 i
A S s s | 0 00
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- Time allowed: 2:40 Hours

GEOGRAPHY SSC-lI

38

Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.
v SECTION — B (Marks 36)
Q.2 Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12 x 3 = 36)
(i) Briefly explain human geography.
(ii) Write a short note on branches of human geography.
(iii) Briefly explain migration, natural increase and population growth.
(iv) What is meant by densely populated areas of the world?
v) Briefly explain conurbation and city.
(vi) What are ‘specialized function cities’?
(vii) Write three harmful effects of ultraviolet rays.
(viii)  Write any three social problems of rural settlements.
(ix) What is environment?
(x) Write a brief note on biotic components of the environment.
(xi) What is drought? |
(xii) Write three measures to control the pollution.
(xiii)  Why do floods occur?
(xiv)  What are linguistic maps?.
(xv) Describe basic directions.
(xvi)  What is meant by ‘scales’?
(xvil)  Give types of maps on the basis of purpose.
(xvii)  In geographical term what are ‘conventional signs'?
- SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x 8= 24)
Q.3  Briefly explain evolution of human geography, its scope and range in the world today.
Q.4  What are the functions and problems faced by urban settlements? Discuss in detail.
Q.5 Write a note a natural environmental problem and also those created by man.
Q.6  Write short notes on any two of the following:

(a) Types of North (b) Physical environment  (c) Nucleated settlement

— 2SA-l 2321—
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) Answer Sheet No.
||
u g feend LHES L s Ly, Invigilator Sign.
"~ Fill the relevant bubble against each question according to curriculum: Candidate Sign.
F Question dlri A I B r c D A l B ] ¢ J D ]
| , E ; : E E
Islam emphasizes on of wealth! : - b '
rather than concentration of wealth. EReproductlon Sthnbutlon ESocuaI EProtectton 5
e banigetn Z_lf-(f:/'»/‘lﬁ‘/iru/lijflﬁ 5(.."/ B4 E.:,fﬁ? : O O O O
. A settlement called Quba was at a distance! 5
of miles from Madina. : : : : :
m —_— - i3 113 23 +30 ,
- ..u‘(/?}_‘;liédf ;.;{,.«.L}Hdl:?i E E E E O O O O
] How many Muslims were martyred in the§
‘ battle of Uhad? ! ! ! ! '
3. 140 150 160 .70 '
. 2 stat o I wtis ' O O O O
‘ The Holy Prophet (#) (oaudl pi3) started§ ‘ ,
) at the age of ten or twelve. i Trade ' Tailoring :Shepherding :Farming H
| St PSSk si e F0) PSS e e iy - : © 0 O O
~ s ; | z ;
. What is the sentence that makes the whole§ Perfect élmperfect ?Descriptive ilndicative
thing understood? rcompound ;compound rcompound  ;compound
u S bt Ui b T edfF e Simict S, WP, g IS, : © 0 O O
* oo of st z : s ; E
. The meaning of (53%is: 1Straightup 1 Shed Corrected :Send Ahead
i EU/U’ ibv il/.;/) EG‘LI’ E O O O O
VLGS T c z
' : gEmotionaI/ ‘ : ,
Hypocrisy is a disease. iMenta! iHearty iPhysical 'Financial
= ek i & e M O 0 0 O
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One who does not mercy is also not shown:

10. ; .
elUr WSS

Jealousy

A

Mercy

Arrogance

E

Justice

.d/‘

The meaning of ¢ijl3lis:
11.

r’

VL G

Educators

Ll;z...)(y

Stingy
J_DL/U'J{

Wasters
Lwi SGFJP

1Sincere
ipenitents
EL./JLJJ?.

P

I ‘Question Jir ! A B c D A | B | c l D
Who laid the foundation of arrogance? ‘Man 1Angel ! Animals 'Devil
8. g.,_-:. : Lo O O O O
TBRVEy SR 12/ 7 ol
:One who 'One who ‘ :
ileads in 1gathers
Who is “Best” according to hadith? 'salaam wealth  The intelligent. Very strong
5 din? , ;™ Ve O O O O
?c"—d!((ffw_’/ffuf(bfééf_p L.fdl'{'u':rllfi :Q/(‘j‘ﬁu;db? O3] VP b

Every religion has some ethics and the ethic

1. of Islam is:

Jihad

K~ E:

odesty

Faith

Yﬁ;flk(_lfﬂ)n;r}"gjiﬁ(f(ﬁ

Jrt S

N

A

S

b mcmeccecececaeeeectecacccccccccacccdecccccmraccaccccadecccncnmnmmmee e meeeamrreacenroefeoaecaamaccccc-baccesmmcsesnemmmphmmmmmmmmmcmmmmaatana

._‘;_____th;lb’(ﬂfmlw&uilf:éd)/; Az A iuu_,
The ruling organ of the human body is 5
according to hadith. Brain i Lungs ' Heart i Kidneys
13 b s 0 0 O O
- L FE LA Lo | Lo L e P P e
When Makkah was conquered, where did :
Akarma flee? : Madina ' Yamen 1 Ethiopia ' Syria
14. y : : ! :
1oLl gl S S Fanlhis | Dot D o2e Lo © 0 O O
A verb whose subject is not known is Passive éNegative
called: ' verb ¢ Active verb !lmperative  command
15 5 | e O O O O

O
O
O
O

Ee A NS SR RS RN RN RSN R RN
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Yo
ISLAMIC STUDIES SSC-lI

Time allowed: 2:40 Hours ‘ Total Marks Sections B and C: 60
NOTE: Answer all the questions from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.
SECTION — B (Marks 36)
Q.2 a. Translate any TWO of the following Quranic Verses Idiomatically: (2x4=08)
) WL P 2 A D L2 % il 33 /2 SN2 G S 2 s 72 L .
DA BT P55 T AT Gl 5B G G ()
AR AP IR R RS CUR A AATAG Y PR s TP A TENt v Xl (i
29 .22 02808 A/ T4 7 (% N\ 382 /’
@VROE POTE Y St 215 G5 G2 AOBIS ot 5 (ii)
b. Attempt any TWO of the following parts and explain the Quranic verses. (2x4=08)
M0 SRS 95 1A SRS i B 5 G 63 1 A Gl B T ()
P P R ” L 27 .
@ﬁ’ﬁ”. & G &P Ul ’(._,v,\}—’ii; (ii)
W O eI A AR Ak XN e
Sl aLys dslbggjs B s e B 352U G o\ (i)
c. Write short answers to any FIVE of the following questions: (5x2=10)
() What is meant by brotherhood system?
(ii) According to Hadith what did the Holy Prophet (%) (os) 54) say about the rights of neighbors in
Islam? } ‘
{iii) Write four aspects of charter of Madina. _
(iv) What guidance has the Quran given regarding the news of a transgressor(géi)?
(v) Write translatio? of a Quranic verse about economic equality.
(vi) What is nominal sentence? Give two examples.
(vii) Write the names of two non-Arab Sahaba.
d. Translate and explain ény ONE of'the following Ahadis and describe how we can apply
that in our daily life. ' . (06)
3898589 0T 008 T aadliad. plad A Al )
24 7 ryes 5 i T H
i besciendl ()
e. Describe Intransitive verb and Transitive verb. Give two examples of each. (04)
SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x 8 =24)
Q.3  Whatis meant by Jihad? Also write importance and kinds of Jihad.
Q.4  Write a detailed note on the importance of dutifulness in Islamic society.
Q.5 Write a note on finality of Prophethood.
Q.6  Write the notes on the following topics.

a. Lawful means of earning sustenance
b. Prophet's (#) (caslll 533) compassion for children

—— 28A-ll 2322——



e o ) o) (584 Sl

601(}’/”(»»7‘75,/’ f | &59:40:25,
T LS cUr(03)E < BT e pr o A 2R L o 140028 Sl i iz Ly Lprifwe w2
..ul"f I'oLM(‘:' lu:l;jb.;v[,lﬁﬁ

v

6~ S
(2x4= 08) AT s el diger B AU

- P PR PP, < 23 s :{: V] ” .« 7 Y . .
S AN ST VAT AR I RET A

320 3983223, -

0605 G A s AR S T TGN Ge ARG @)

A ”
22 3z 20 sh A z ’ < YV )
BV2Is o V3 g}%ﬂ!&!;ﬁg’éﬁ&a Y illeS c;)!; (iiiy

(2x4= 08) “EL l,rf(g&f&f};;déf;&di.?Jﬂ —

a3 BAEE i ol 8 Epe D 03 e Gl o
ARSI AR

(iii)

-
\
=
0
v\
0
o\
o
&
G~
\gj\
@¢
X
3
k\
o\
e\
®
1N
\%u K
£
(R

(5x2= 10) Aoz B Lair®bedd 2
Sl pf e biv i)

oL AL gz_(wsﬂ:fu) AR Ve AL P LunsydipprOb Lcwe ()

S M L a (i)

S L AT W)

J/ /"fo;J Widiediplablgb (V)

S ke (Vi)

AL e gy )

(06) e il Sbnenl JE Fraibocwtis
a8 8 i diE Ssanl sy phad Al O
s Beagrletl G

(04) e L s Su u'rJUJ"’ -
ey
(3x8=24) (-g,z,?/.l/,/ Lu‘v’lrrl?-g‘.{d’ Jirt ny)!
| UL e bolg E e s Ay
I eaSse S p s pedi Ay
_q//j_bi.{!/,gff" 04y
:g/.‘.dﬁ @)J‘f‘.’? Lol Ay
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B ®0 0 e ®0 0000 06
B |SLAMIC HISTORY SSC-II ® 0 ® 0O © @ @ @ @ @ @
SECTION — A (Marks 15) |
. Time allowed: 20 Minutes ©e 00 ®© 000000
. Section — A is compulsory. All parts of this ®@ ®© ®© ® @ ® ® ® ® ® ®
‘ section are to be answered on this page and .
handed over to the Centre Superintendent.
' Deleting/overwriting is not allowed. @ @ @ @ @ @ @ @ @ @ @
Do not use lead pencil.
. SNSRI S /(‘rfg.v{)‘w.;pzéw_q_wudn.w ® ® 6 ® ® ® ® ® ® 6 6
- b WSt S S O 0 0O 0 O 0 © 0 © © @
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N
‘ Answer Sheet No.
|| .
- I feende L S L2 LUy, Invigilator Sign.
' » Fill the relevant bubble against each question according to curriculum: Candidate Sign.
B T question w1 A 1 B8 | ¢ | © 1als]c]o]
- Hazrat Amir Muawiya (4%) belonged tog 'iBanu gBanu
which clan of Quraish tribe? iBanu A’di 1Umayyah iMakkhzum  :Banu Hashim !
u 9w;ua;uJ£¢}J“€;;v/:gﬁguxﬁ | LnF T 5 © O O O
Hazrat Usman Ghani (%) appointed Hazratg
- Amir Muawiya (4) as the governor of whiché
i province? ' Syria 'Egypt 'Hijaz iIraq O O O O
VI (TENS FP I B Y g i v i L1
‘Hazrat
[ iHazrat Asma ;Hazrat iMemoona  :Hazrat
Hazrat Abdulltah Bin Zubair (5%) was son of: | (14%) iHafzah (d) () iKhaula () ! O O O O
i " i L e e 2 (e, e o b
L | -s a a ; 5
m  VWhich Umayyad caliph is famous for his|Abdul Malik |Walid Bin  {Suleman Bin |Yazid Bin |
construction work?. 'Bin Marwan !Abdul Malik Abdul Malik :Abdul Malik
a. : : ! : O O O O
- ten B e ALt P i gty Mgy igod  Bresr
| ] ! T T
i Tariq Bin iMuhammad :Qutaiba Bin :Hajjaj Bin
. Who is named as the conqueror of Spain? ;Ziyad iBin Qasim EMuinm ;Yousuf O O O O
S bl 106U ki O Gt oS f L 5
u s s a a s
. Who was the ruler of Sindh at the time of the ! ! Prithvi : :
~invasion of Sindh? ‘Raja Dahir  {See Sakar  :Chohan iJai Singh ;
" S Fhoin Lo S LI 21 Ny tAZ U 4 i Fe : © 0 O O
= Ubaid Ultah Ibn-e-Ziyad was governor of; ; E E E
which province? ‘Basra {Kufa 'Hijaz ‘Egypt ;
7. ) i i ; H
. : _ﬂﬁjjfb’.{_/uf)yw,blgsaﬂ i.if 15 el O O O O
N Page 1 of 2 |
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O
[Cow

| | Question Jr i A B | C i D a|Blc]|oD *
Who imposed jizya on newly convertediHajjaj Bin 'Abu Salma !
. . 2 : ) : a7 ! : a7 : _
8. Muslims? :Yousuf :Ibn e-Ziyad !Khalal :lbn e-Ziyat : Q O O O.
VAV N g Dl s o ;
During whose regin Khana Kaaaba was! 'Abdul Malik Waleed Bin Suleman Bin :Yazid Bin | ||
? ; 1 i i H )
9. invaded? iBin Marwan Abdul Malik :Abdul Malik :A_bdul Malik : O O O O
g Jf/’,f;uu:,.,réuf tot ot L WP ety : | e Mt a ; |
Where was the centre of Abbasid movement: ; E i E u
? : i Taai : ' Madi ;
10. located? ) :Yemen :Ta:alf :Hamalmah :Madxna : O O O O _
WS L iy e b Lt ik : B
{Haroon-Ur-  |Abu Jaffar Al- {Mutasim | Abdul Abbas |
H 1 1 H 7| 1 1 [ 1 i
11, Which Abbasid Caliph rec[urtefi Turk army? sRasheed EMan'soor EB illah EAlsafah O O O O.
SO AL ST sbsp Uk :»‘JI A2 ;J:L("" LU '
Khalid {Fazal | Jaffar ‘Musa u
Yahyah Barmaki was Son of: 'Barmaki +Barmaki :Barmaki ‘Barmaki '
12' ] o ] L} 1
ek Sl | i S s WSy o O O O-
i Muhammad : Abduilah -
What was the real name of Muhammad ;| Bin ' Bin ' Abu ' Abu ' .
-e-Zakiya? : ; 1 : '
13, Nafs-e-Zakiya? o Abdullah : Muhammad : Abdullah : Muhammad ! O O O O
WAL WSS 2 | s P Aoy b DA u
During Abbassid period Ibrahim Mousali :
14, Was famous for what? 1 Musician : Poet i Physician 1 Philosopher :
TV S VI STV 5 yrte L e Do o
15 What was ‘Diwan-ul-Bureed'? : Police Treasury iMllltary iPost
te FLudilpesdung | ; Ry g s C ;
—2SA-I1 2323-2231 —
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Time allowed: 2:40 Hours

Yo

ISLAMIC HISTORY SSC-II 1{

Total Marks Sections B and C: 60

Answer any twelve parts from Section ‘B’ and any thrée questions from Section ‘C’ on the separately

NOTE: provided answer book. Write your answers neatly and legibly.
SECTION - B (Marks 36) |

Q.2 Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12 x 3 = 36)

() Briefly narrate the incidence of Harrah.

(i) Why did the need to establish diwan-ul-Khatim arise during Umayyad reigh?

(iii) What was the Tawabeen rfiovement? Elaborate.

(iv) Write down any two reforms introduced by Abdul Malik Bin Marwan. -

(v)? Write a brief note on Jar'nia Masjid of Damascus.

(vi? Why Hazrat Umer Bin Abdu! Aziz (3i%) is titled as fifth pious caliph?

(vii) Why did count Julian invite Muslims to invade spain?

(vii)  Write down any two causes of the civil war between Amin-ur-Rasheed and Mamc;on*;ljr-Rasheed.

(ix) What does Night of Caliphs (Shab-e-Khulafa) mean?

(x) What was Mutizlitis sect?

(xi) | Briefly introduce Zakariya Al Raazi.

(xi'i) Write a brief note on Abbassids architecture.

(xijii) ‘Write down any two causes of the decline of Abbassids.

(xiv)  Who were Mangols?

(X\;) What was the custom of ‘Tabarrah’ (Renunciation)? Who abolished it?

(x{/i) Write down a short note on the house of wisdom (Bait-ul-Hikmah).

(xvi)  What does Khums mean?

(x;/iii) Write down the names of any three famous military commanders of Umayyad Caliphate.

SECTION — C (Marks 24)

Note: Attempt any THREE questions. All questions carry equal marks. (3x8= 24)
Q.3 Wéleed Bin Abdul Malik’s reign is considered as the golden age of Umayyads. Why? Prove it with arguments.
Q.4 Cfitically evaluate the causes of the decline of Umayyads.
Q.5 Why Jaffar Al-Mansoor is called the real founder of Abbassid Calip:hate’? Explain.
Q.6

Write down a comprehensive note on the military system of Abbassid Caliphate.

— 25A-Il 2323——
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(12x3 = 36)

(3x8=24)
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Section - A is compulsory. All parts of this
section are to be answered on this page and -
handed over to the Centre Superintendent.

Deleting/overwriting is not allowed.
Do not use lead pencil.
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invigilator Sign. Fill the relevant bubble against each question according to curriculum:
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,.u/’j(gi.ﬂgIu)lJVQQIXL?T-QJ/?Q(QIXKJVLDE{‘:—l,l:?Z.wﬂb’ﬁgﬂ-ujy/,1—2 c«@’"’(r»lp;,ﬁ w2

(36/‘;)(30’;'.’
(10) o andlblan A Sl et 3l Jlsudl

Q. No. 2: Translate the following verses into Urdu or English:

2 -
apls o3 33l Jsi (%
i3 Rl B Y % 4

< - P
dil g2 6 oud i om

2 P gz ¢ 9 22 2 &~
A ek & 0F 55

5 f | d “ 95{' :T ﬁ/ :J

| 3 L2l G738 Y GH AL

‘ d

(06) a 335 bl et e )y

Q. No.3 Put ERAB on any THREE of the following sentences:

) (ii) _ bWt o, brugas meesl (1)
—ot3 sosl A -

el Sls s W) S basnassloplens Uduas (i)

5 roladlode Y Wlspe pBslafpapfude il (V)
(08) | N TR WU N (R

Q. No.4 Answer any FOUR of the following questions.

Cebdleldols o) OF AT [ PR
?»imgﬂﬁom&jf K4 (iv) S5 d3sp 4 lt:;a\ &Qﬁ‘ S (iii)
s gy @ bliagisl )
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(04) 2l sabliols ocla: puald] Jl ol
Q. No.5 Write down the Singulars of the following Plurals.
o) 9@ i) S (i) A0
gy (i) slgradl i) sy () g W
(OR) | @
’ | JuaSlmalibe Al Jaola
Write down the Present tense of the following verbs:
=3 ) &7 (iii) e (ii) Y (i)
5 (i) & (i G (i) PR W
(08) « IRELY, IR W S EPR W P
Q. No.6 Use any FOUR of the following words in useful sentences: g '
ME ) faght (i) G () gl 0
| bl )

(24/?&)&‘7’0’9'.!
(Attempt any THREE questions. All questions carry equal marks.)
i | Gosasadlsss iR alaiSioe e o
(08) | Syl Je ke &1 el

Q. No.7 Write an essay on “Our Islamic World".

(08) b Sl s JE Y ac BT et Ul s
Q. No.8 Write an essay on “Syed Ali Murtaza @zl s#)’. 5 .
(08) |  Jab o Bl el J Ve B :guldl Yl
Q. No.9 Write an essay on “Muhammad Bin Qasirﬁ (J@&JM&?:&)"

(08) . a8l ol Y 6V Ean B ol )yl

Q. No.10 Write an essay on “Modern Inventions”.

—— 2SA-1l 2324—
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" ONONOK ®0 0000 0
| DRESS MAKING AND FASHION ® 0 O O ® 0 0 ® ® ® O
DESIGNING SSC-I
| ] SECTION — A (Marks 08) ® ® ® @ ® ® ® ® ® ® O
Time allowed: 20 Minutes
- Section — A is compulsory. All parts of this @ @ @ @ @ @ @ @ @ @ @
section are to be answered on this page and
handed over to the Centre Superintendent. @ @ . @ @ @ @ @ @ @ @
. Deleting/overwriting is not allowed.
Do not use lead pencil. ® ® @ @ ® @ ® ® ® ® ®
| i SN LI £ p oo B 61 sin L g gy
o -+ Jb’-/l(ﬁ},_).?d ..-,)l,l;!g @ @ @ @ @ @ @ @ @ @ @
L
u ® @ @ ® ® ®@ @ ® @ @ ®
n Answer Sheet No.
S e LS L s L)y, INVigilator Sign.
u Fill the relevant bubble against each question according to curriculum: Candidate Sign.
.| | Question Jir ‘A . B ‘ c ' D A l B | (of ! D I
Burning cotton gives off the smell of: 5Paper ! Plastic ' Hair ' Chemical :
1 5 . : : : : :
] 0T e oG ¥ N LS nezd 'O O O O
» Woolen and worsted are the types of: ‘Wool ECotton ?Silk ‘Linen .
2. : : it o :
. YQ_YrulJJ,y’/uJIJ»EU:’ 3(7“( Ef"/ Edf, : O O O O
. Which fabric is made with pressure org
directly from fabric? Net iFelt 1Fancy cloth :Show laces |
3. : ! v : :
. S bblie st Al ALud ) e e s ' LLUiz : O O O O
- Which process improves the quality of! ! 5 i ;
fabric? iCalendaring ! Sizing 'Mercerization Shrinking |
4- 1 L} ' 1 t
- S bbbt L e fef aufig e R, L}? ; O O O O
L What is the most important thing in readyé
made garments? iDesign 1 Colour ' Standardization : Mercerization :
5. ~ iy : Ly " ;
. ?%g)gf?la,g/adﬁok/f}yd&/:gflz! 'K LRI R, ! O O O O
The fibre of polyester is manufactured by the! : 5
) interaction of acid and: 1 Alkali 1 Alcohol :Chlorine 'Flax =
&} , ) ‘ : H
b St AL i 2K S 4] o e ; © O O O
- Standard Printed Master Simple
7 In which pattern is the seam allciwalnce kept?;pattern Epattern Epattern Epattem O O O O
- P IS CATV R ) Vo oy oA N g
. Why is cloth dipped in resin solution after; Crease : : :
weaving? ‘resistant 'Glazing 'Napping ' Shrinking
8. ! . : : :
u \‘lat@wu[utd}‘(nesin)wzg:},ﬁ N o) bt i iAo 1y ; O O O O

Iblll
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Time allowed: 2:10 Hours Total Marks Sections B and C: 32

NOTE: Answer any six parts from Section ‘B’ and any two questions from Section ‘C’ on the separately provided
answer book. Write your answers neatly and legibly.

SECTION — B (Marks 18)

Q.2  Attempt any SIX parts. The answer to each part should not exceed 3 to 4 lines. (6 x3=18)
(i) Write down the characteristics of mineral fibres.
(i) How do fibre types affect the texture and quality of yarns?
(iii) How many methods are used for making cloth? Write names.

(iv) Write down the method of Tie and Dye of cloth.
(v) Write a short note on “Fur”.

(vi) 'Enlist the types of knitted fabric.

(vii) State the types of Finishing Processes.

(viii)  Write down the uses of Plant fibre.
SECTION - C (Marks 14)

Note: Attempt any TWO questions. All questions carry equal marks. (2x7=14)

Q.3 Write down the different method of identification of fibres in detail.
Q.4  Write in detail about the production of silk.
Q.5 Whatis meant by finishing Processes? Describe the advantages of calendaring and sizing.

(1 8/-5’} J/)F»._/’
(6x3 = 18) . :w‘.’d 2948 KU )’/tg;g}.‘ £;l’/.l(06){:.‘j/ ;u-‘-J,J,?u?f :f/JIf
S eekor® (2 g (i)
?‘L(}ﬂ]ljl}lc‘f/?J?/JJld/J&J el rlﬁuf 2 (i)

gLl pE L iy i)
SIS F S Sl (iv)
i)

LRI (vi)
Gl (i)

S F R ey (viii)

| (14/-1J Jf)(’r#,
(2x7=14) s p Ludr it S DS

S e S p P L s Al
_u:/ut,. MJL;/LJI;I&JZ:JL(%J :Fﬁ;dlr
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: E E ‘Electro :
What is the working principle of induction:Mutual : ‘Magnet imagnetic ‘
motor? , rinduction 1 Self-induction :induction rinduction ; O O O O
S VUK S L 2 i duist Ll f e b el
Which of the following relays is used in EEIectronic EAmperage
increasing or decreasing the current? iVoltage relay |Hot wire relay relay relay ‘ O O O O
‘-“LJ/,(K{,J;L)L(,( Sas s J'__/(f S St E 4.154 » E{-//’bb‘«k Eé/.—f;/'-gl Eé./(‘; el E
| iD.C | 2
Which of the following is a rotor used? iD.C motor  :Alternator 1generator iA.C motor ! O O O O
?c"_t'lldl"""l/‘uu:ufc.ufu}buE)f()’-(,‘3 E/‘:‘/A'T E KA U5 E/'fu’-gl E
If the turns of a set of running winding areg {
100 then what is the number of turns of big: ' | ;
coil? Winding pitch is (01 to 03, 01 to 05, 01 : ' ' :
to 07) 142 turns 144 turns 147 turns 150 turns O O O O
$LunkE LIS e sdunf100L o L EL N1} a2 £44 | a7 iz,cso '
Un(E 1St 13 DELELS] 5 i i :
Which motor needs both A.C and D.C:Slip rings {Induction ESynchronous ' Squirrel cage !
current for starting? ‘motor imotor ‘motor 'motor :
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The power of motor is measured in: Kilo watt Horse power Ampere Volt :
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What is the running part of D.C motor? Rotor Stator Meggar Armature : Q O O O
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44
MOTOR WINDING SSC-II

Time allowed: 2:10 Hours Total Marks Sections B and C: 32

NOTE: Answer any six parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 18)

Q.2 Attempt any SIX parts. The answer to each part should not exceed 3 to 4 lines. (6x3=18)
() Briefly explain the slip-ring type of induction motor.
(ii) Write the measuring method of winding wire (through the micro meter).

(iii) How many windings in the single-phase motor are there? How are these identified?
(iv) How is the rotation direction of a three-phase motor changed?
(v) How many windings are there in the DC motor? Write names.
(vi) Briefly explain the following terms:
(a) Conductor (b) Coll (¢) Coil group
(vii) Enlist the important parts of AC Generator or alternator.

(vii)  Which colours are used to represented the following wires?
(a) 1%tphase (b) 2 phase (c) 3 phase (d) Neutral wire (e} Earth wire

SECTION — C (Marks 14)

Note: Attempt any TWO questions. All questions carry equal marks. (2x7=14)
Q.3 Briefly explain the induction motor and its working principle.

Q.4 Write a note on three phase alternators.

Q.5 Explain the step by step, procedure of winding of three-phase motor.

(181-5’) (f){,u,._/?

(6x3 = 18) ' .u.‘.J el 22948 EUs )’Jlgc_(f Lrl'].l(os){c..gfa.ddj,yﬂ :l’/.jdlr‘ |
St oW et I Ta (i)

SIS (s Puaiid Ko d L B2 (ii)

te QoS L g SeneutdnFiind v 2 (i)

e QbSUtw Ler DI E2r 26 5 (iv)

el LeurdnF i, FStrs- (v)

IS e S o L s e bl (vi)

Sute S AL EAT s (vii)

S bl e UF S S Usibnidtyn

ThGN o Sk o SR A o SR o SRK
(14—

(2x7=14) (a2 Ludrpl- gL rne§hH

| _ e S (KL U1t Pl = ek Al

i g A

i L LS PSR 0 71y

(vii)
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- The unit of induct i EH :F d :Oh EMh E
e unit of inductance is: iHenry :Fara :Ohm :Mho E
o St Ty o o E © 0 O O
@ |f two capacitors are connected in series! ; E Become i
then the total capacitance will: iIncrease iDecrease :Remain same :negative i
_ 2. o , : . 1 .. H
] :M{JJWL@M,Q/I‘/.%)?;JL@,‘/, et P 2o ; o O O O
. The unit of time period is: ‘ sHours E inutes ESeconds EHertz 5
3. . o : : : :
] e Sediafe = e 2 0 0 00
. A machine which converts electrical energyi
to mechanical energy is called:  Transformer ECapacitor iGenerator iMotor 5 .
i' ;)/Jiu:d}lf:(fdjlﬁ/‘glzu?uﬂE//taiu‘ Ll Y Ly O O O O
, | 0 E i i i
o 1uF is equal to: ;
: HIx10F  11x107 11x107° t1x107 :
. By M.}fwilx 02F  Lx 0°F :lx10 F : x10°F | O O O O
. Th i rt of an AC motor is called éStt iRt EC'I C
e moving part of an AC motor is called: :Stator 'Rotor :Coi iCore ;
i' -:"_HL«/ .»uu&;fK}rAcg V- i/‘u EJ’I!( i/f g O O O O
] If inductance of a coil is 0.05 Henry andg 1 :
frequency is 50 then what will be the. : ' ' :
inductive reactance? : : : : : :
. = s 115710 ‘157.1Q 11.571Q 10.1571Q :
u u"'{ld/;fjl;}l'/‘/ﬁorlg/u’dﬂo.osﬂ'tfd'[vgﬁs : : : : © 0 0 0
| ‘ S LA i ! ! !
; i iAverage and !
. According to the laws of electricity rule 58:Casing of ; thigh-pressure : Neutral earth :
8. covers: Emetal gJunction box ;supply Ewire 5 O O O O
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ELECTRICAL WIRING SSC-II

Time allowed: 2:10 Hours Total Marks Sections B and C: 32

NOTE:- Answer any six parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION - B (Marks 18)

Q.2 Write short answers to any SIX of the following parts: (6 x 3 =18)

(i)
(it)
(iii)
(iv) .
v)
(vi)

(vii)
(viii)

Note:

What is a shunt motor?
State Faraday's law of electromagnetic induction.
What is capacitor? Enlist the types of capacitors.
Explain the peak value of AC with the help of wave diagram.
Briefly explain electricity rule 48.
A transformer has primary and secondary winding of 600 and 1200 turns respectively. If primary voltage
are 230V then find secondary voitage.
What is inductor?
Differentiate between motor and generator.
SECTION — C (Marks 14)

Answer any TWO questidns. All questions carry equal marks. (2 x7 = 14)
"Q.3 Explain DC motor and the construction of DC motor. :

Q.4  Explain transformer and its working principle. Write the names of parts of transformer.
Q.5 Write a detailed note on capacitor and their types.

(6x3 = 18)

(18— F)fs—s

2B LA706) g e 2as LS 3 Y ¥ Ay

tedare (i)

G S L F IS s pOe (i)

e gbpnSsa (i)

-Q.’/ ol il Jﬁ J‘ ‘(,,é,ug).;é le?” Ur g’ (iv)
S eolosfa8Una e G (V)

Lol 3102 L 23992308 FIS S A1 S 5712000160002 o IS sk LSS58 S A14 pisdisfi - (vi)

(2x7=14)

LS5l ST GAET
Sl P (Vi)
S ety (Vil])
(14~ S)fy o
(s f Lusrer-gES JirnedN
| g S el et iy st i 5 Al
el AL ur? £ 12y Lo Urm LS KLt A 67 Ay
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| . | Question Jir A B c D AlB]c] ]
Muhammad (%) (0wl S53) is not the
oflany of t:he men amongst you. Fath ‘ H Friend
(Al-Ahzab-40) ather Brother rien Son
1- 3 . - o s dngs 7
Jr L{qu»/r"”“"(u‘ fg:::“?)’j Ay i e b O O O O
(Uo7
“lowY 5" means: Wrongtalk  |Straighttatk |tak o | Hard talk
2. g gnt 1a a ard ta O O O O
S YL g 57 | = e e o
O' Family of the Prophet (#) (0wl S813), Aliah
wants to remove from you.
(Al-Ahzab-33) Decoration  {Impurity Trouble Comfort
3- . - I ' o . 2 oo -
e f S e bl Wb e S o Fe W88 55y il e Jgt il (U O O O O
(331,4’7 UNeesSons
People ask you (%B) (oudl S4) about Day of
the - (Refer to surah Al-Ahzab-63) Death Sustenance |Heaven Judgement
A L SwdtesL i) BF IS = o e ep O O O O
(6317 Viss3 N1 £2)
"Hazrat Ibrahim's (8&4) life is having complete| Hope in Allah
example for those who . (%) and here
5. {Refer to surah Al-Mumtahina-06) Pay zakat Perform Hajj |Gather wealth after O O O O
- z‘g,’»syu}'{ééuﬂuld’ﬁ&fulg/” s i e S I g ATl
(06,2555 1 ) e,
In the Hadith religion has been compared| o S '
6. with. Bridge Building ea Pillar
' -Q.Jd:._,ﬁ; ](q)d:b.{” "t elf Yot Ol O O O O
According to hadith there are joys for
fasting person.
7. 2 4 6 8
SUUES éL/l»/‘J/&W&&/_» O O O O
Accordingf to hadith Cleanliness (< 4) is e
the part of: Fast Tauheed aith . Risalat
8.
: Y. e J[Q/:IQ/QJWL&.» SV pry] et =, O O O O
In the Holy Quran Allah‘t‘(g;%g) almighty Tobe To offer To Perform
9. commanded Hazrat Ayub (3): thankful Prayer To be Patient |{Hajj O O O O
' Ao Spe i Yol ST I8P Koyl € ¥
in which sermon did the Holy Prophet (&):Friday Inauguration |Farewell Hajj -
10. (0wl S4) mention many human rights? sermon sermon sermon Eid sermon O O O O
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ISLAMIYAT COMPULSORY SSCHI

Time allowed: 2:15 Hours Total Marks Sections B, C and D: 40

NOTE: Answer the questions given in the sections B, C and D on the separately provided answer book
according to instructions.

SECTION — B (Marks 10)

Q.2 Write short answers to any FIVE of the following questions according to syllabus: (5x2=10)
(BRI
(i) What characteristics of Muslim men and women have been described in Surah Ai-Ahzab?

(ii) In Surah Al-Ahzab, what rules and manners has Allah Almighty advised the wives of the Prophet ()
(O a318)?

i) In the light of verses of Surah Mumtahina, what should be the attitude of believers towards the

ii
disbeliever, who are enemies of isiam?

(iv)  In the light of Hadith, write the manners of joining congregational Prayers?

(v)  What is meant by ‘family life’?

(vi)  Explain briefly two ways to express gratitude to Allah Almighty.

(vii) - What is meant by migration?

SECTION — C (Marks 16}
Note: Attempt any TWO questions. All questions carry equal marks. (2 x 8 =16)

Q.3 Describe Jihad. Explain different types of Jihad in detail.
Q.4 Write a comprehensive note on human equality.
Q.5 What are the rights and duties of children and parents? Write in detail.

SECTION — D (Marks 14)

Q.6 Translate any THREE of the following Quranic Verses idiomatically: (3x3=9)

//’

OUELE B8 M2 BIETIR50a e s (#0315 755 ba 3 B 3 %25 Mvw;‘ 43 0
B o” Y e 1 A e oy 3 D% Pt .
o245 91 GFEET195 SR T o 53 2508 QUSRI 38 )

SIAE LG8 I B atasdi s bl eyt S B B ET GT W
BTN AR S5 G & 2 e T3 s G3tss Sl EL

SR ‘W)MIWL&E}WU‘&%&%;’ 2 S (%35 x:;»‘”’m”’ PN W

Q.7 Translate and explain any ONE of the given Ahadith and describe how it is related to our practical
life and also explain some deeds which contradict the hadith and thus these deeds may be corrected:
(2+2+1=5)

MIiB oo 1,74 ;
I SR g £ )
AN P P APE I AT O
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SECTION - A (Marks 15)

Time allowed: 20 Minutes
Section — A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed.

Do not use lead pencil.
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is the leading province in terms of! ‘Khyber-
marble products. 1Sindh 'Punjab ' Pakhtunkhwa :Baluchistan ! O O O O
gz unf.:,u,w(f//.,ﬁi Py Eu—aifv ::Ai;}’/r/.) Eul").,:l’ i
Pakistan's industries are classified into! E : ;
categories. : : : : : :
. , 12 i3 4 \5 :
bW o ure ool ; 2 ; ; © o0 O O
The major sports goods manufacturing: ;
industry is located in _ city of!
Pakistan. ‘Multan ' Sialkot 1Sargodha : Sahiwal : O O O O
e el b K ] ot L ool il ;
iIslamabad  :Hyderabad !
Motorway M-1 connects two large cities:Lahore and :Karachiand :and iand ;
of Pakistan. : Peshawar iPeshawar  :Peshawar :Peshawar : O O O O
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Pakistan Television was established '?: 1960 §1961 1962 1064 ! O O O O
s KeTbendl Ut : : P :
Karakaram highway connects Pakistan to: §China élndia §Afghanistan }Iran ‘
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L

The head office of Pakistan Zarai Taraqiatii
Bank is located in: i Karachi
- Cnt PTEIG 7S e g1

Islamabad
Apw

Faisalabad

JLTJ“’

Pakistan exports in significant
quantity. Rice

Ik

Mineral oil

WEde

Sugarcane
o

Machinery

O
O
O
CIDII

&4

e

_41'_‘.‘/,«(’/,02‘./!}3"5'/. L'Jl"/@

city of USA is considered to be theg .
busiest sea port of the world. , Houston Kansas
10. : A
_c‘_t'(ggzlﬁofqu7d;/’(,(91fi L.{/l g/‘éh n-'(JL.f g x JL{ O O O O .

Kabul is the capital city of: Iran Turkey Afghanistan Kuwait

O
O
O
O

11.

Washington New York

-‘4.:'/')61 iAsK Sy > 1 g e .
Jamia-tul-Azhar is the world’s oldest Islamic§ .
university and is located in the city of! '
12, E_gypt. ’ ) ES|kandana ECalro ESuez Port Saeed O O O O .
Cht L pitl e § 1S5 (RS 3 e g Fe sty
! ; s =
was the mother tongue of the : f .
people of East Pakistan. : Punjabi  Urdu ' Bengali Persian .
13. . v, ‘ H
< SO LN 2 | U 9y ! e i O O O Onm
14, was the capital of East Paklstan.. ) E Dhaka Chittagong : Khuina Bogra O O O O )
& e k(32 S N1 [T'e e n

Quaid-e-Azam visited East Pakistan in:

- . 1949
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O
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O
O
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COMMERCIAL GEOGRAPHY SSC-li

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION ~ B (Marks 36)

Q.2 Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12 x 3 = 36)
(i) Write a short note on the cottage industry.
(i) List names of important centres of cutlery and surgical items.

(iii) Write a short note on the importance of industries.

(iv) When and where did the first textile industry set up after the independence of Pakistan?
(v) Wirite a short note on the importance of internet.

(vi) Write names of the different means of communication used-in Pakistan.

(vii) Write names of the important roads of Pakistan.

(vii)  Enlist importaﬁt imports of Pakistan.

(ix) Write names of different types of banks working in Pakistan.

x) What are the functions of commercial banks of Pakistan?

(xi) Which countries have the most trade with Pakistan?

(xii) Write names of the important commercial cities of the world.

(xii)  Write names of the capitals of Afghanistan, Iraq and England.

(xiv)  Write a short note on the largest city of Pakistan.

(xv) What are the effects of industrial and commercial activities on national integration?
(xvi)  Write names of the provinces of Pakistan.

(xvii)  Write names of the important historical buildings situated in Lahore.

(xviii)  Write names of the sea ports of Pakistan.

SECTION — C (Marks 24)

Note: Attempt any THREE questions. All questions carry equal marks. (3 x 8= 24)
Q.3 Describe the causes of industrial backwardness in Pakistan.

Q.4  Write the importance of roads in Pakistan,.also write a comprehensive note on the important roads in Pakistan.
Q.5  Describe important commercial cities of Pakistan in detail.

Q.6  Give proposals to increase national integration.

—— 25A-11 2332——
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Version No.

ROLL NUMBER

2131311

HEALTH AND PHYSICAL

EDUCATION SSC-li

SECTION - A (Marks 12)

Time allowed: 20 Minutes
Section —~ A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed.

Do not use lead pencil.
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Answer Sheet No.

g feenb LS L sz Ly, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum:
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Candidate Sign.
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| Question Jr A B | ¢ i b iaAalBB]c]|ob]
Javelm s weight for women is: :600 g §300 g §650 g §500 g
et unbe il Luit! r:/soo /300 i1S650 +¢1./500 ©c O O O
Distance covered in unit time is called: iActiveness éBaIance :Force iSpeed
Y SRS ' é_Jauyu*J,Jw nys Lty e ¥ o O O O
Ifin knockout system the number of teams i |s 5 A. :
six then number of byes will be: : ' ' ‘
;wJuxuun;)w'Juf/J[_(’,nJL 54 1 53 ; O O O O
A : ' ! !
Height of goal post in hockey is: 9 feet §10 feet 8 feet 7 feet
-« 0n AR OTRE BN ANS 2310 g {237 © O O O
In ‘interval training’, players do their training: In gaps iContinuoust iHurriedIy éSIowa O O O O
_g.t'/ %}&ldiﬂ’(u:u@/‘d;/"l E u:uﬁ; g;k‘ﬁ io’»d"d)" i T E
Width of hockey field is: §50 yards 270 yards §75 yards §60 yards
~efn Jialune LI S50 70 75 §f60 o O O O
In high jump trials are provided for:
every height. 5 o i3 14
_(_Jw)u:"/ /d/.'L,ut.wa,n' : ; : ; O O O O
How many sources are there for a|r i i : :
cleanliness? : ' ;
12 16 4 5 '
?mdwi&é_/_)um} ; i : ©c O O O
Percentage of water in human body is: : o : o : o :
0 50% 160% 140% 170% ;
PR i W v S 7 du;. ’ : ; : : O O O O
Duration of Hockey game is minutes. ! 70 §60 §50 §80
febaber JA m ; ; ; ; o O O O
“Hiking” means to walk in/on: Forest iSnow iMountains §Water
et It L & N e Ul L o O O O
‘ 'Home made !
is an alcoholic drink. ;Lassn iTea 1drink i Whisky :
DY TR Y. iy Iy O O O O
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HEALTH AND PHYSICAL EDUCATION SSC-li
Time alIoWed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 33)

Q.2  Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 =33)

(i)
(ii)
iif)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)
(xii)
(xiii)
(xiv)
(xv)

Note:

What is meant by physicat fithess?

Write the kinds of recreation.

Write down any three qualities of league system.
Explain the ‘free hit’ in Hockey.

Describe different styles of high Jump.
Describe any three fouls of Javelin.

Enlist the aims of Picnic.

What is meant by community health?
Describe the sources of air cleaning.

What is meant by balance diet?

Enlist any three rules of 1500m race.

Write a brief note on penalty corner in Hockey.
What is circuit training?

What is meant by camping?

Write a short note on coffee.

SECTION — C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. : (2 x 10= 20)

Q.3  Write rules of 800m race. Explain the fouls of High Jump as well.
Q.4 Which are the infectious diseases? Briefly explain their symptoms and precautions also.
Q.5 Draw the sketch of Hockey ground and write its measurements.
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